UGC NET 2022 EDUCATION

Topic:- 9_PARTA_Set1

Z ‘Who amongst the following is considered as father of Sociclogy?
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I |Quest1’on ID = 1][Question Description = 101_09_Education_0CT22_Q01]
1. _George Pa}'zr@
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QOption ID=1]
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Option ID = 2]
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Option ID = 3]
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>D-[Option ID = 4]
3 According to Sankhya Philosophy. the mind or the intellect is :
|_’a:'ER T % 5T, S o s §
estion ID = 2][Question Description = 102_09_Education_0CT22_Q02]

‘ [Option ID = 5]
2. Bub conscious material entity

sgae ifes oxg (wed)

[Option ID = 6]
3. Consecious material entity

<t e wen (wed)

[Option ID = 7]
4. Consciousness orintellect (Chaitanya)
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[Option ID = 8]

3) In the context of a Path (marga) to reach a state free from misery, as recommended by
Buddha, which of the following is not amongst those eight steps or rules (also called astangika
— marga)?
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[Question ID = 3][Question Description = 103_09_Education_0CT22_Q03]
1. Right conduct



WE A=
[Option ID = 9]
2. Right effort
FE TAE
[Option ID = 10]

[Option ID = 11]

I 7 Right speech
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: Option ID = 12]

j Which of the following was NOT the aim of eraft based education recommended by Mahatma

Gandhi?
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le.lestion ID = 4][Question Description = 104_09_Education_0CT22_Q04]
1. Meeting the expenses of the teachers salaries

Ll—ﬁmaﬁ % 97 598 T =

Option ID = 13]

DOption ID = 14]
jDignity of lahour
HA =1

I [Option ID = 15]

inimization of drift of rural youth to the cities in search of jobs
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[Option ID = 16]

5) The banking concept of education’ is coined by :
T  n smEmoT 4 A

[Question ID = 5][Question Description = 105_09_Education_0CT22_Q05]
1 Paulo Freire
[Option ID = 17]
2. Tyan Ilich
T Sier g
[Option ID = 18]
3. JF. Herbert
ERy e c by
[Option ID = 19]
4. Johann Pestalozzi

[Option ID = 20]



6) Which of the following is NOT a correct statement with regard to Indian Philosophy?
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[Question ID = 6][Question Description = 106_09_Education_0CT22_Q06]

1. Indian philosophy denotes the philosephical gpeculation of ancient and modern Indian
thinkers
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<[Option ID = 22]

C)I_ndian philosophy denotes the philosophiecal speculation of Indian thinkers— theists or
atheists
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GIOption ID = 23]

ndian philosophy 1s marked with its devotion to the search for truth
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I I [Option ID = 24]

@ Aristotle’s teaching became the philesophical foundations for:
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uestion ID = 7][Question Description = 107_09_Education_0CT22_Q07]

I_[Option ID = 25]
CZ-DIdea]:ism
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[Option ID = 26]
3. Naturalism

TiTETG & forg
[Option ID = 27]
4. Existentialism

At = fou

[Option ID = 28]

8) What is the exact title of Justice Verma Commission Report on Tescher Education?
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[Question ID = 8][Question Description = 108_09_Education_0OCT22_Q08]
1. Wision of Teacher Education in India - Regulatory Perspective
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[Option ID = 29]
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[Option ID = 30]
3. Vision of Teacher Education in India : Quality Perspective



e | arearye T 1 R - e doieE

[Option ID = 31]
4. Vision of Teacher Education in India : Status and Quality Perspective
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[Option ID = 32]

Z Which of the following has recommended that an Independent Regulatory Authority for
O Higher Education (IRAHE) should replace NCTE, AICTE, UGC and others?
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uestion ID = 9][Question Description = 109_09_Education_0CT22_Q09]
- N — o

Option ID = 33]
esh Pal Committee

| L et
[Option ID = 34]
- National Policy en Education —1986

Omfl’aﬁm:frﬁ'l- 1986

[Option ID = 35]
thari Education Commission

Dafra'rf? faren agramm

jOption ID = 36]

I—‘-ﬂ) Which-of the following is NOT a type of budgeting?
e e

[Question ID = 10][Question Description = 110_09_Education_0CT22_Q10]
1. Formula budgeting
W ==

[Option ID = 37]
2. Programme budgeting

Frd= ==

[Option ID = 38]
3. Performance budgeting

FEEER (wR ) w=en
[thion ID = 39]
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[Option ID = 40]

11) Which of the following constitutional provisiens is made to elimate discrimination of caste,
creed or colour in any government aided school?

Foreft +ft Tt wvgraa e Rewrer & Wl w7 (F2) @ ool F omym T eowe T w9 % i Pt
o I A SET- W T T R

[Question ID = 11][Question Description = 111_09_Education_0CT22_Q11]



1. Article 16

T 16

[Option ID = 41]

T 32
QOption ID = 44]

:2) Learning through Informal Educaton is called:
Qﬂ'ﬁ\ﬂmﬁm%mﬁlﬂmﬁﬂwwt

Lu.lestion ID = 12][Question Description = 112_09_Education_0CT22_Q12]

o
[Option ID = 45]

2. Formal Learning
P et o

DOption ID = 46]

Dlnsighiful Learning
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‘ gOption ID = 47]

[Option ID = 48]

13) Bandura's ‘Social Learning Theory' is considered as the bridge between :
g & wtE el  fgE WA S e A am A

[Question ID = 13][Question Description = 113_09_Education_0CT22_Q13]
1. Behaviorism and Gestalt Psychology

[Option ID = 49] .
2. Functionalism and Gestalt Psychology

Tt 37 T gAREE = 9

Oition ID = 50|

[Option ID = 51]
4. Structuralism and Funectionalism

TETEIE W FE AT &
[Option ID = 52]



14) A Projective technigue is used for the assessment of -
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[Question ID = 14][Question Description = 114_09_Education_0CT22_Q14]
1. Aptitude

Z:-rﬁﬂ:%l = T B
Option ID = 53]
Academic Achievement

Sgfors IR = 99 B
{IOption ID = 54]
ntellizence
Oﬂ’f&* I F I
DOption ID = 55]

Pe

LL5) Who rejected the ideas of mind and consciousness as subject matter of Psychology?
T = ey o % =0 F witrs i Seeen ¥ oen = e asen e

>Q.|.|estion ID = 15][Question Description = 115_09_Education_0CT22_Q15]
1. Sadler

5

Haelt

DOption ID = 57]

|_2' Watson
[Option ID = 58]
3. James

-

=

[Option ID = 59]
4. Wundt

)
[Option ID = 60]

16) According to National Council for Teacher Education (NCTE), which of the following is a
composite institution?

ete wwes fre g (NCTE) % siman, Foifafae § 8 sl son o wifen (ifee) w9 27
[Question ID = 16][Question Description = 116_09_Education_0CT22_Q16]
1. an institution offering a single undergraduate programme

W T W R s SiEe e W

[Option ID = 61]
2. gninstitution offering a single postgraduate programme

UF Hel A G THAR (W i) FHEn 5 @A
[Option ID = 62]



[Option ID = 63]
4. aninstitution offering a single diploma programme

TF Heal T UEAT et wewn = W oA

[Option ID = 64]
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Z) The duration of Master of Education (M Ed ) programme has been inereased to two years by
O the NCTE vide its regulation of

s FAET (M Ed) w58 %1 W@t F e 9 ¥ w5E g 39 % aean () ge mE s
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{uestion ID = 17][Question Description = 117_09_Education_0CT22_Q17]

102014
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D[Option ID = 65]
013
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[Option ID = 66]
- 2012

Oaci 2012

[Option ID = 67]
2015

Daﬁ 20157
jOption ID = 68]

H) The National Couneil for Teacher Education (NCTE). as a regulatory body, came into existence
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[Question ID = 18][Question Description = 118_09_Education_0CT22_Q18]

1. 178 August, 1992
17 smes, 1992 =

[Option ID = 69]
2. 17% August, 1994

17 sy, 1994 5

[Op;ion ID = 70] .
3 179 August, 1995

| 17%R, 1995

[Option ID = 71]
4. 17 August. 1996

17 arme=, 1996 =1

[Option ID = 72]

19) Which of the following institutions has heen entrusied the rezponsihility of in-service teacher
education for primary / elementary schools as per National Policy on Education, 19867
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[Question ID = 19][Question Description = 119_09_Education_0CT22_Q19]
1. Institute of Advanced Studies in Education (TIASE)

TH=gIe A% sEAes EE ke (a uwm )

Option ID = 73]
““Colleges for Teacher Education (CTEs)
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OptionID=74] -
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QOption ID = 75]
jtate Colleges of Education
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I |Option ID = 76]
|

20) Broad functions-of the State Council of Educational Research and Training (SCERT) are :
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u

estion ID = 20][Question Description = 120_09_Education_0CT22_Q20]
Design and development of integrated teacher education programmes of 4 year

1.
>— duration

DAadaﬁ syaft = Wit (s8iTes) areas g == = foas = faemm

30ption ID =77]
Preparation of code of professional ethics for teachers

Torgw & T e Weree < o S 5o
cj)Option ID = 78]

[Option ID = 79]
4. Accrediation of teacher education institutions and their monitoring

raTTE Ty gwEnad # §EEA (Weieoe) T8 S e (Fia)

[Option ID = 80]

21) Discipline bazed model of curriculum desien is basically-

fo (FeRefSem) s wames F dfwer w wEE T

[Question ID = 21][Question Description = 121_09_Education_0CT22_Q21]

1. Learner Centred

et 58 2

[Option ID = 81]
2. Teacher Centred

I e E

[Option ID = 82]

‘ 3. Subject Centred



[Option ID = 83]
4. Social Reconstruction Centred

gt wiEatn (Fhe fergem) $iE 2
[Option ID = 84]

22) Which aspeet of CIPP model of Curriculum involves material time, physical and human
resources needed for the effective working of the school?

% ard 4t @ (CIPP) uizw = o wee o formmem & wumeh w w=rem 2q =t =, difes
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[Question ID = 22][Question Description = 122_09_Education_0CT22_Q22]
1. Context
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( )Option ID = 85]

=
E@ption ID = 86]
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e 1

Option ID = 87]
aﬂw:t

T |
> [Option ID = 88]

) In India the National Curriculum Framework for Teacher Education (NCFTE), 2009 was
' prepared by -

Hﬂﬁm&mtﬁ;rﬁmwwlmﬁtmﬁé}, 2000 FIW THET I 9T

C@Jestion ID = 23][Question Description = 123_09_Education_0CT22_Q23]
1. National Curriculum Committee of India

Y TEE WeTsn wHE T

[Option ID = 89]
2. National Commission for Teacher Education

T T M s g

[Option ID = 90]
3. National Couneil of Educational Research and Traming

e Hfaw wEae dh sfew o (A am A) g
[_Option II?_ =..91] . }
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[Option ID = 92]

24) The National Council for Teacher Education (NCTE) 1s headed by
Tgte e e ofey w5 aeE

[Question ID = 24][Question Description = 124_09_Education_0CT22_Q24]
| 1 ::- person



[Option ID = 93]
2. Director

e w2

[Option ID = 94]
3. Co-ordinator

Z
Option ID = 95]
tary

I fOption ID = 96]

Which of the following techmques 1s NOT covered under non-probability samphng?
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uestion ID = 25][Question Description = 125_09_Education_0CT22_Q25]
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[Option ID = 97]
LLP‘urposive sampling technigque

e et

[Option ID = 98]
““Incidental sampling technigue

% el AT
'Option ID =99]
. Quota sampling technigue

i =qvEl TEAE

[Option ID = 100]

26) Which of the following best illustrates an example of a mixed-methods research study?
Fietietas & & w0 -5 SEEUE 259 = ST g S9HE £ F it 27

[Question ID = 26][Question Description = 126_09_Education_0CT22_Q26]
1. Sahil conducts interviews and observations in his study of transitional students

Hifem Troiirs (@it kil % w9 woaws  meTER 18 s = 2

[Option ID = 101]
2. Rekha interviews parents and their children regarding transition

T T F grEy 0 mrer-Taa ol e v S Iy o Bl

[Option ID = 102]
3. Bameer looks at percentages of successful transitions from the district and class grades

Fit fost va F41 % I @ 9 OO Tl 1 SisdE = oe 2
[Option ID = 103]
4. Reshma conducts cbservations and supplements her findings with class grades

Ty 2 w2 ol F-TE & e an Rl S e w2

[Option ID = 104]

27) A secondary source of a particular historical research :
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[Question ID = 27][Question Description = 127_09_Education_0CT22_Q27]
1. will always be a secondary source for all the historical researches

[Option ID = 105]
Zwﬂl always be a primary source for all other historical researches

[Optiqp ID = 106] . _ )

Option ID = 107]
‘ 4. ’:EIL'I]I}IE be used:as a source in any other historical research
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GOption ID = 108]

) The test-retest. the split half, the equivalent/parallel form and the rational equivalance
methods are used for the asses=ment of -

I Itrfim;‘gﬁ*q{im. al-Tennfim, worwfifaamrm w0 oft aframe saem F ggha g w9 2

@Jestion ID = 28][Question Description = 128_09_Education_0CT22_Q28]
- wvalidity of a test
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DOption D = 109]
=l nability of i tast
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[Optiop_.ll_) =110]
liability of a test

[Option ID = 111]
4. validity and reliability of a test
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[Option ID = 112]

29) Who anmongst the following coined the terms Formative' and Summative’ evaluation?
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[Question ID = 29][Question Description = 129_09_Education_0CT22_Q29]
1. Michael Sadler

[Opt!'on ID_=_ 113]

[Option ID = 114]
3. Knut

T2 (knut)

[Option ID = 115]



4. Alken Howard

[Option ID = 116]

30) Partfolio development is basicallya :

Zifﬁf?reﬂ o B R
@Jestion ID = 30][Question Description = 130_09_Education_0CT22_Q30]
Spontaneous process

I:m: T T

<[50ption ID = 117]
‘» Jtatic process
& gl

DOption ID = 118]

 Dynamic process
- —

[Option ID = 119]
I 1 Teacher-centred process

[Option ID = 120]

: 31) ‘Shiksha Vaani is an sudio based learning initistive started by :
il ek s sl Hies & el 3, Faed g o w3

n.lestion ID = 31][Question Description = 131_09_Education_0CT22_Q31]
F—Natjom] Couneil for Teacher Education (NCTE)

CDr@a e finen fas (NCTE) g0

[Option ID = 121]
2. Rehabilitation Council of India (RCI)

wTr T e (RCD) g

[Option ID = 122]
3. University Grants Commission (UGC)

favafaenan 3mgm smm (UGC) 5w

[Option ID = 123]
| 4 Central Board of Secondary Education (CBSE)

| e e e 9 (CBSE) g
[Option ID = 124]

32) The Natiorial Institute of Educational Planning and Administration (NIEPA) is located in -

¥t s P aft woes 5w (NIEPA) e 2

[Question ID = 32][Question Description = 132_09_Education_0CT22_Q32]
1. Mumbai

T i

[Option ID = 125]
2. Hyderabad



FomEE
{Opti(_)_n__l[_)__l= 126]

R

[Option ID = 127]

Z

Chennai
o,
[Option ID = 128]

I 33) In which year the Persons with Disabilities (PWD) Act was enacted?

7 =T [ Feea wafen i fem i F e e a7
estion ID = 33][Question Description = 133_09_Education_0CT22_Q33]

: ;1992
992
Option ID = 129]

| | e

Option ID = 130]
O
: 1998 #

[Option ID = 131]

[(pooe
DEODG 4
I Option ID = 132]

w) ICF framework for classification of health and disability related domains is given by:
TEEE U T FrEla &5 (SN) % oeiiET #7 A1 =6 ws W=y e T i

[Question ID = 34][Question Description = 134_09_Education_0CT22_Q34]
1. UNICEF

s
[Option ID = 133]
2. UUNCRPD

g amd & gn

[Option ID = 134]

> WHO

| a4 GO
[Option ID = 135]
4. UNESCO

T g
[Option ID = 136]
35)  The term UNCRPD is associated with:

7 7 # s f & (UNCRPD) wrsg srafaq 2 «
[Question ID = 35][Question Description = 135_09_Education_0CT22_Q35]



1. United Nations Convention on Regulations for Persons with Disabilities
feman saiwal = vaemTH 2 94w U WOl (F5H) |
[Option ID = 137]

2. TUnited Nations Confederation on Rights of People with Disabilities

Fepan 2ot 5 T T AT TE R A

2 Option ID = 138] . — .
ﬂnﬁ;&ﬂ ﬂ -'ﬂ:m-_ r-e--a.—._-:-:sa:u ngnﬂmﬁ‘g s _htuaffmsomm_iﬂfﬂmhiﬁm izahiliti
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Option ID = 139]
{E_’nited Nations Conclave on the Rights for People with Disabilities

Oﬁmﬁwﬁﬁ?ﬁ% affeET W ETE U T () |
[Option ID = 140]

) In India, the statutory body to set norms and standards for teacher education in special
education is:

Mﬁ%ﬁm%ﬁm—hﬁﬂmm%ﬁuﬁw#w(I.%:a;ﬁ}m%-:

Question ID = 36][Question Description = 136_09_Education_0CT22_Q36]
- habilitation Centre of India

Owna'mgqafa%ﬁ

Option ID = 141]
Rehabilitation Council of India

T T

)Option ID = 142]

I 3. National Council of Rehahilitation Education
Tata T afeg

[Option ID = 143]
4. National Council for Teacher Education

e wEATs fE 9y

[Option ID = 144]

37) A teacher is explaining about g model of change by giving an example of converting a cube of
ice into a cone of ice. The teacher is talking about -

7= figs We-FA (cube of ice) F MEA-F (cone of ice} T Fo7 F T 3 T T S oieA
St a2 | HEs e a

[Question ID = 37][Question Description = 137_09_Education_0CT22_Q37]
‘ 1. Kurt Lewin's model

| Fefm e s W (Kurt Lowin's model)

[Option ID = 145]
2. Kotter's model

Fied wige % a0 % ( Kotter's model )
[Option ID = 146]
3. Kubler-Ross's model
@?@I—ﬂﬂ Hize % =11 § (Kubler-Ross's model)

[Option ID = 147]
4. Joff Hiatt's modsl



3% fears % iz % 91 F (Jeff Hiatt's model)

[Option ID = 148]

38) The basie principles of ethies in using open educational resources have been laid down by :
e g AT % I O W (T % genid fgEE S we e e

Zuestion ID = 38][Question Description = 138_09_Education_0CT22_Q38]

it i il b
R - -

e 1] U T WG (314w w) o

I_[Option ID = 149]

Massachusetts Institute of Technology (MIT)
TSI S A dREETE (W W 4 g

Option ID = 150]
3. JCreative Commons (CC)

Dﬁwﬁa =i () g
L!JOption ID = 151]

- Open Educational Resources (OER) Commons
Ll_m‘rra T fose (o 3 9m) 9 gu
OOption ID = 152]

9) Which of the following Sustainable Development Goals (SDG) ensures ‘inclusive and squitable
quality education’ ?

§ & sl wa0 B we (@ SF), weeh sl e gee e B’ 5REsE =

I

estion ID = 39][Question Description = 139_09_Education_0CT22_Q39]

chDG 3

w3

[Option ID = 153]
@S0G 4

wHEda

[Option ID = 154]
3. 8DG5H

uEE A S

[Option ID = 155]
4. 8DG6

e

[Option ID = 156]
40) Who was the main proponent of Understanding Level of Teaching?

Foragor % =g TR0 1 VO oA 977

[Question ID = 40][Question Description = 140_09_Education_0CT22_Q40]

[Option ID = 157]
2. Hunt



=
[Option ID = 158]
3. Herbart

TR

[Option ID = 159]

Zi&ﬁ Glaser
THET

QOption ID = 160]

h) Which of the following isfare not principle(s) of inchusive Edueation?

A)  Segregated Education (B) Zero rsjection
(© Appreciationof student diversity (D) Prafessional sollaboration
Choose the correct answer from the options given below :

}%@ﬁéﬁwm;ﬁmﬁ:ﬁﬁmm;&ﬁ@aqﬁ%?

(Y e @ntitee) frm B) e s (0 )
€) o i Rt 1 =t (D) wETaaETETE FEaT (FHEvEE FIAET)
4 fom m et € B w8 I oW = Fif -

LLQu_estion ID = 41][Question Description = 141_09_Education_0CT22_Q41]

(Ayonly

> [Option ID = 161]

Q(_C) and (D) only

%= (C) 3 (D)

[Option ID = 162]
- (B) only

Cf)am (B)

[Option ID = 163]
4. (B) and (D) only

Faw (B) (D)

[Option ID = 164]

42) Choose the visual conditions which are types of refractive disorders —
{A)  Myopia
(B)  Amblyopia
(C)  Hyperopia
(D)  Astigmatism
(E)  Strabismus
Choose the correct answer from the options given below :



fomrrmit = feafrat o1 S 9 = ST (Tl PRt & TR B
fiagr=m (Myopia)
Azt (Amblyopia)

(A)
(B)
(€
(D)

o

T (Hyperopia)

Fizageam (Astigmatism)

M (Strabismus)
Géﬁvﬂﬁﬁm?ﬁﬁﬂﬁwwmﬁﬁv,:

“TQuestion ID = 42][Question Description = 142_09_Education_0CT22_Q42]
"A) and (D) only

<%ﬂa (&) 3ttt (D)

( ’Option ID = 165]
i (B), (C) and (E) enly

D)

=4 (B), (C) 3 (E)

DOption ID = 166]

e (B) #717 (E)
LL[0ption ID = 167]

(4. )A), (€ and @) only
a9 (&), (O FhD)

[Option ID = 168]

ST

(A)
(B)
(C)
(D)
(E)

) Identify the barriers to effective communication

Noize

Negative attitude
Unclear graphics
Slang language
Positive Behaviour

Choose the correct answer from the options given below -

WS Harg FET § e = gEE

(A Tm

B) e

(C)  #ouE wEni=a (o)

D) 9

(E)  H=ods s89a

e fow u fammdl  # w6 39w 9 =9 it

[Question ID = 43][Question Description = 143_09_Education_0CT22_Q43]
1. (B). (C) and (D) only

wad (B), (C) 3t (D)

[Option ID = 169]
' 2. (A), (B). (C) and (D) only
[Option ID = 170]
3. {A) and (E) only




@ (A) 3 (E)
[Option ID = 171]

4. (C), (D) and (E) only
== (C), (D) @k (B)

[Option ID = 172]

Z) BWAYAM stands for -
(A) Study Webszites for Automated Young Active Minds

(C)y  Study Website for Actual Learning
[10)] Study Webs for Action Learning of Attentive Minds
Choose the correct answer from the options given below :

(‘BWAYAM) & 7 2 -
3} TZE SEETsE B ATgHTes A UFE ArEsE

(@) =2 SeEse B e we
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@Jestion ID = 44][Question Description = 144_09_Education_0CT22_Q44]
(

D) only

>—%-aa (D)

Option ID = 173]

(B) only

j—
[Option ID = 174]

CD(A} only

Faw (A)

[Option ID = 175]
4. (A)and (D) only

=9 (A3 D)

[Option ID = 176]

45) Programme learning is based on the principle of :

(A) Conditioned Learning Theory {B) Copnitive Learning Theory

(C)  Gestalt Learning Theory D) C eTal
Choose the correct answer from the options given helow -

T e A

(A) aae (wders) wim fage w (B) Fywrers s fagm W
(€)  Tretee i frgr (D) =iz FEETET fAgE T
e fim o foweal @ ® wd T = it -

[Question ID = 45][Question Description = 145_09_Education_0CT22_Q45]

1. (A) and (B) only
#aw (A) o (B)

[Option ID = 177]
2. (B)and (C) only



Fa= (B) 11 (C)

[Option ID = 178]
3. (A)and (C) only

waw (A) 1l (0)

[Option ID = 179]

) only
o

s Option 1D = 180]

IE) Organisational climate :
(A)  Determines work performance of an individual
O (B) Does not affect sentiments of an individual employvee
(C)  Affects the lsvel of job satisfaction of an individual/employes
(D)  Affects work efficiency of an individual/employee
Choose the correct answer from the options given below -

(A) T wiE & I FoTEE A g |

DU

0 Bt o o i o e 1 e o 2 e L 1 o o s

T =t /3= §1 = () U9 T T A TEie a1

-

(D) T ot /o= 7 o zaW &1 mE FA R |
>ﬁ?ﬁnmﬁwﬁﬁ#ﬂﬁwmmzﬁﬁq:

Q‘!estion ID = 46][Question Description = 146_09_Education_0OCT22_Q46]
D- (A). (B) and (C) only

|_%rum (A). (B) 3t (C)

Option ID = 181]
#(B). (C) and (D) only

=4 (B), (C) #FR (D)
[Optior] ID = 182] :
3 (.0 and D) only
[Option ID = 183]
4. (A) and (D) only
Faw (A) 3t (D)

[Option ID = 184]

47) Which of the following is/are example(s) of alternative assessment?
{A)  Response Journals
(B)  Portfolio
(C)  Typical end term examination
Choose the correct answer from the options given below :



frafefias 4 &% Sh-m/st-8 Svs T (Eee) 1/ Sgmon 34 7

(A) e

B) it

(C) waa fafim (feftmrs) wihay

et T fomeai o | wd 370 7 5o Firaw

uestion ID = 47][Question Description = 147_09_Education_0CT22_Q47]

o~

s T (A)

Option ID = 185]

O W () 3 (B)

[Option ID = 186]

Q=
I | IOption ID = 187]
(B) and (C) only

L= ®#©

OOption ID = 188]
> 48) In Andragogy:

(A)  Learning of Adults is there within its secope
(B)  Learners are independent and strive for self direction in learming
(C)  Teacher decides what, how and when anything is to be learned

D (M)  Mbotivation stems from self esteem, confidence and recognition that comes from
I— suceessful performance '

Chooze the correct answer from the options given below -
LEVE S
(A) =D = e e e % der |
B) fFEEiemmmidhdfede e sasEEsEd)
(€} et ey, st s dam a2 |
(D) o e wayE, Seer 1 O | Sees vl 2 o wEe w1l e F A 2 |
3 fom et © F wE I 9 94 Hie
[Question ID = 48][Question Description = 148_09_Education_0CT22_Q48]
1. (A), (C) and (D) only
9 (A), (C) 3 (D)
[Opti(_)n ID = 189]J
- FEE@)LE) D)
[Option ID = 190]
3. {A). (B) and (C) only
A (A), (B) 3 (C)
[Option ID = 191]

4. (B}, (C) and (D) only

F=w (B), (C) =it (D)



[Option ID = 192]

49) Pedagogy:

(A) I= a method and practice of teaching
(B)  Encompasses teaching stvle, teaching theory and feedback assessment
(C)  Involves the style of transacting the curriculum content 1n class room

Z (D)  Requires teachers not to get influenced due to difference in the age of students and
nature of content to be deliversd

O Chioose the correct answer from the options given below :

TS (FErTEl)

) o g e, s figre ot Freds g st 2
( {’} T FaFY O TgTEn [OuF oeg F a9y (peaEan) = it A mhe 2
) aifsn 2 f Praw 9 Prad i am Rrm @ werd s w9 vl 2 ol
71 =R
(o e 4w A
LHJestion ID = 49][Question Description = 149_09_Education_0CT22_Q49]
- (A). (B) and (C) only
I.I_mm),m}m (C)

(" Joption b = 193]
* (B, (C) and (D) enly

>—iﬁa (B), (C) =t (D)
QOption ID = 194]
- {A) and (D) enly

e (A) 3 (D)

I [Option ID = 195]

C/)B) and (D) only

I (i} AT W T R TR

=4 (B) 3 (D)

[Option ID = 196]

50) Competency Based Assessment:

(A) Should be done just after the end/completion of the programme
B) Should take into its scope all measurable components/aspects that need to be assessed
(C) Does not demand flexibility with regard to use of different tocls/approaches
(D)  Should be fair and objective
Chooze the correct answer from the options given below -

TEm AU Awe (EEEL)

&) wremEs H et T % e s R e =t

B)  F HHwe e I G 9O TEe #1 9H Fd8T (S0) § T =i

(C) 7 Tofrs Swepeon/aqrm % seauTs & ged o wlrems 1 5i7 =98 =@l

D) = ¥t Fme (dieEe) B = |

= o o R § 1 vl I W = A

[Question ID = 50][Question Description = 150_09_Education_0CT22_Q50]
1. (A). (B) and (C) only

9 (4), (B) ¥ (C)

[Option ID = 197]



2- (B). (C) and (D) only
& (B), (C) =i (D)

[Option ID = 198]

3 (A).(B) end ©) only

e (). (B) 3t D)
ZOption ID =199]

O{A}-and (B) only

I—[Option ID = 200]

<) The standard error of mean :

(A)  has a greater value than the standard deviation of individual secores
D (B)  decreases with the increase in sample size:

(C) 15 less for the samples drawn from heterogeneous group
D Choose the correct answer from the options given below :

L&%ﬁw(@%mmﬁm}:
(A) I R T S TS e S O e ol
) dum wrwn F meEl & owE g g
) fmEsdmopdfmmaed s s dn |
S o e Rreedt # 9 o v A b

: Question ID = 51][Question Description = 151_09_Education_0CT22_Q51]
Ay only

e

Option ID = 201]

2 (B) only
[Option ID = 202]
3. (A) and (B) only
= (A) 31 (B)

[Option ID = 203]
4. (A)and (C) only

A= (A) 3 (O)

[Option ID = 204]

52) The emphasis of Learning Outcome-based Curriculum Framework (LOCF) ison -
(A)  application of knowledge
{B)  providing holistic educational experiences to students
(C) designing a national common svllabus for a particular programme of study
D} changing most of books in a college or umiversity library
Choose the correct answer from the options given below -



AR T ST TegEE T (T STea s e g B9 a9) #1599 59 3

(4)
(B)
(€
(D)

H % T

T FESETeE A A & W S T F aeens /i W

Zﬁﬁnmﬁaﬁﬁﬁﬁﬂﬁwmm:ﬁnﬁr{:

@.Aestion ID = 52][Question Description = 152_09_Education_0CT22_Q52]

[Option ID = 205]
24(C) and (D) enly

S (C) =5 (D)

[Option ID = 206]

c> only
| | IW ()

[Option ID = 207]
(D) only

: [Option ID = 208]

STUDR

The programmes on Teacher Education recognized by National Couneil for Teacher Education
(NCTE) are :

(A)  Diploma in Pre-school Education (DPSE)

(B)  Diploma in Elementary Education (D E1Ed )

(Cy  Diploma in Arts Education (Performing Arts)

(D) Master of Physical Education (M.P.Ed )

(E}Y  Bachelor of Arts in Education (B.A. — Education)

Choose the correct answer from the options given below :

Tz weres e s (NCTE) grr wraaTwie vears: foan = #

(&) o= Brr=ef g o fe=m (DPSE)

(B) wet= foen d feemm (D.ELEA)

(C) e foan § feiiny (Performing Arts)
(D) it fey § wrewEs (MP.Ed)

(E)  famn § sen =i (B.A. — Education)
et o o fawsar F o = 390w =99 St

[Question ID = 53][Question Description = 153_09_Education_0CT22_Q53]
1. (A) and (B) only

e (A) 3 (B)

[Option ID = 209]

2.{];

) and (C) only

F=@ (B) 11 (C)

[Option ID = 210]
3. (Dyand (E) only

#=a (D) = (E)



[Option__ID_=211] I
' 4. (A), (B). (C) and @) only

[Option ID = 212]

54) Learning:
Z {A) Implies change in behaviour
O (B)  Takes place through experience and practice
(<) Also implhies changes due to growth and maturation
I (D)  Implies that change must be relatively permanent
Choose the correct answer from the options given below -
(=)
A Fafgm sz d wiEE R
) ¥EOs Wi e W mren a2
(@ @ afom e it o % e R
) H st B aReds e @ B =Tt |
fom mu fawed § § wE I 9 =99 S .

Ll_Q.pestion ID = 54][Question Description = 154_09_Education_0CT22_Q54]
(A), (B) and (C) only

= (A), (B) 3t (C)

Option ID = 213]
(B}, (C) and (D) only

:)ima (B), (C) 37 (D)

[Option ID = 214]

ety

)s=w.®m+o

[Option ID = 215]
4. [A), (C) and (D) only

4w (A), (C) 2k (D)

[Option ID = 216]

55) Jung has claszified human beings according to their :

(&)  sccial behaviour (B) body built
() energy level (D} mood
Choose the correct answer from the options given below :
1 (Jung) 3 wred 9 g R d -
(A) T weEn (T faede) % sEn (B)  wi o W (4 ) % e
(© w5 T (T ) F e D) = (58) % FEn
et e ot § & W 9 == i

[Question ID = 55][Question Description = 155_09_Education_0CT22_Q55]
1 (A only
e (A)

[Option ID = 217]
2. (B) only



=7 (B)

[Option ID
3. (C)only

Fad (C)

[Option ID

=
o (D)
] OPtion D

= 218]

=219]

= 220]

I 5f) Terms of Reference of National Knowledge Commission were to:

(A

O ®)
) ©

Build excellence 1n the educational system to meet the knowledge challenges of the
21= century

Promote creation of knowledge in Science and Technology Laboratories
Promote knowledge application in preservation of environment
Improve the management of institutions engaged in intellectual property rights

)]

D Choose the correct answer from the options given below -
LIJQ?“"E‘I‘FFW%W%L?#H WTE TRE) 9 :
I [[EY 2175 graved 1 I gedft St W w wE % fow e s § s W
Q) e it Fh sATITEneT @ W geR W weE w

) e = e T O T S A
>ﬂ}) g wug i § w0 HeeTH % EeE § gE e

3 e o fawm 6 & o 99 = =99 i

uestion ID = 56][Question Description = 156_09_Education_0CT22_Q56]
1. J(A). (B) and (C) only

I—%ﬁa (A). (B) 3t (C)

Option ID

= 221]

25 (A), (B) and (D) only
| FEALE) D)

[Option ID

=222]

3. (A). (C) and (D) only

Fae (A), (C) 3t (@)

[Option ID

= 223]

4. (B), (C) and (D) only

Fa (B), (C) 2t (D)

[Option ID

= 224]

57) Egqual educational opportunity means :

(&)
B)
(€
@)
(E)

Equal accessibility to have suitable education

Free education for girls only

Equality of educational standards for minorities and disabled only
Both (A) & (B) are correct

Both (B) & (C) are correct

Chooze the correct answer from the options given below -



A= HiEs s g a2
(&) vugw fr &g 9o A (wEEiTEed)
(B) Foa wtem * o Faes
(C) o0 doTasTH U5 I T g O S BT
D) = (A) R B)FE R
) T (B) 3 (C) w2
3 Tou T frme o & wes sygw e 9 =9e e

uestion ID = 57][Question Description = 157_09_Education_0CT22_Q57]

DOption D = 226]
: {l:} only
& (D)
[Option ID = 227]
(E) only

OF

Fa9 (E)

Option ID = 228]

~

What, in your opinion is an Individualized Educational Plan (IEP)?

{A) Rehabilitation and Career Plan for a student

(B) Family Support Plan

(Cy  Statement of Instructional Supports and Services required by a student
(D)  Transition statement for a student with disability from home to school
Choose the correct answer from the options given below :

STURLY

safFaE e a1 (IEP), 30 Sa=am, #7 §7

@ ol 7y e T

(B)  item Fewm A

(€) Toumf < sorm 3 agE s qaad ua daral w5 w60
(D) o fomm 70 = # o o= = 9owE (giem) =
5 fo e frsedt & & w0 39w = 5o iy -

[Question ID = 58][Question Description = 158_09_Education_0CT22_Q58]
1. (A)only

== (A)

[Option ID = 229]
2. (A)and (B) only

F= (A) 3 (B)

[thion ID = 230]
3 (©only
| =4 (0)

[Option ID = 231]
4. (C) and (D) only



= (C) 3 (D)

[Option ID = 232]

59) ‘NISTHA is:

{A) A national missionte improve learming out comes at elementary level
(B) A programme launched by Rehabilitation Council of India for its staff

(C) A capaeity building programme for improving quality of scheol education through
integrated tedcher traiming

(D) A programme launched by University Grants Commission
Choose the correct answer from the options given below -

TION

.t s # wa o, (P NISTHA) :

) Wi T W ey % oo = e e & T w v s R

) g el % fon v gete oo g we fee T o wtee R

3) whige g sfrem g e e S e SR e 5 e g Fatn s 2
) el wmgs am oo uE G o = sdE 2

Tom T fEwea ° F HeW TUAE I H 999 e

L'[‘JJestion ID = 59][Question Description = 159_09_Education_0CT22_Q59]

LL(A) and (B) only
e (4) 2@ (B)
O[Option ID = 233]
2. (B). and (D) only
=+ (B) it (D)
QOption ID = 234]
_3-)(4) and (C) only
U)Option ID = 235]

4. (A) and (D) oniy

F=7 (A) 1t (D)

[Option ID = 236]

60) Which of the following is FALSE about the Concept of Blended Learning™

(A)  Itis Mix Web based Technology

(B) It is Mix Instructional Technology

(C)  Itis Mix Pedagogical Approach

(M)  Itisrelated to Assignments of the Students
Choose the correct answer from the options given below -

weits il i svson % ged 7 Feafeas 4 3 shw e 27

(&) vz b ag aafe w0 2 B) 7% WiFm FTEEEs T 2
(€ =% fafie e sorm 2 (D) 9o 1 Wi ¥ g

et T T ol § 9 wod SuEe =9 = w9 FiE

[Question ID = 60][Question Description = 160_09_Education_0CT22_Q60]
- @)l
[ m—ﬂ)}

[Option ID = 237]
2. (A)only



Fo= (A)

[Option ID = 238]
3. (B)and (C) only

o= (B) 31 (C)

[Option ID = 239]

ZC} only
ore
[Option ID = 240]

) Which of the following is not a platform of MOOCs?

Ac

(&) Coursera

(B) Edx

(C)  Future learn

(@)  MIT (Massachussetts)
(E) SWAYAM

Choose the appropriate answer from the options given below -
Ll'ﬁlq%ﬁwﬁﬁsﬂq—m{ﬂ (MOOCs) =1 wigwnl (5=) 78 27

Lle ==
Qa fHre
) EER T

w.ad A (Faregen)

DUC

daﬁ’qwﬁﬂmﬁ d | weE S I1 #7 =Y A

est1on ID = 61][Question Description = 161_09_Education_0CT22_Q61]

I—L-NA) and (B) only
()@ @

[Option ID = 241]
2. {C) and (A) only

@ (C) st (A)

[Option ID = 242]
3. (C) and (D) only

Fa= (C) o (D)
[Option ID = 243]
‘ 4 (@ only
. WD)

[Option ID = 244]

62) The first and second step of Dick and Carey Instructional Design Modsl 1= -
(4)  Development of mstructional strategy
(B) Imstructional/learning goals
(C)  Imstructional analysis
(D)  Performanece Objectives
Choose the correct answer from the options given below :



fe (Dick) 3% 3 (Carey) % ¥gr=I T&ss Oizs = W90 T3 1gdE 072
(A) TS A () =
(B)  FEEyET Al e
(C)  aecam= fowe
(D) e (wew) TEE
Z%%qm%ﬁﬁﬁﬁaaﬁiqgﬁmmwdﬁﬁﬁ:
@Jestion ID = 62][Question Description = 162_09_Education_0CT22_Q62]
(A) and (B) only

|—Tma (4) 3t (B)
<[‘E)Bption ID = 245]

1 B)-and (D) only
L: = (B) 7 (D)

Option ID = 2461
® (O
[Option ID = 247]

I I (C) and (D) only

&= (C) 3t (D)

[Option ID = 248]

) Which of the following programmes are related to quality improvement in in-service
education?
(A) Foundation course in teacher education
(B)  Slkill development programmes
(C)  Courses on Pedagogy in specific subjects
(D) Induction meeting
(E)  Miero Simulation for competency development
Choose the most appropriate answer from the options given below -

STUDY

Frafefan & @ S5-m sden (Fom) Taee e § e quw F 97 e Ed
() s g o aem

(B) = S FEE

(C) Torme Bt = s (Bemrs) =

(D) =i i (S i)

(E) =z Fem w7 gE e

=t o T ol & & wad Sy 390w =49 St

[Question ID = 63][Question Description = 163_09_Education_0CT22_Q63]
1. (A), (B) and (C) only

Fa9 (4), (B) 2 (O)

[Option ID = 249]
2. (B)and (D) only

o= (B) #f (D)

[Option ID“= 250]
3 (B)and (E) only



[Option ID = 251]
4. (D) and (E) only

= (D) 3 (B)

[Option ID = 252]

o
S
~

Davis has characterized which of the following as the main soeial funetions of the family?
{A)  Reproduction

(B) Maintenance

(C)  Placement

(D) Socialization of the young ones

(E)  Marrying the kads

Choose the correct an=wer from the options given below -

=75 3 T B § A U 3 e  Eas T F = F e

CATION

(&) = (TTrEETE)
) TEEET (A=)

I I(I} T ()
) AT 1 AT

I I(E} A= 1 el T
Oﬂhmmwﬁmmwmmﬁﬁm

[Question ID = 64][Question Description = 164_09_Education_0CT22_Q64]
A)-and (B) only

D%ﬁa (A) ot (B)
E;ption ID = 253]
J-and (C) only

I_:?'m (B) 3 (C)

Option ID = 254]

i (A) 3 (D)

[Option ID=255]
4. (A)’ @:(q’ﬁﬂ‘m}wlj-

(), (B), (O D)

[Option ID = 256]

65) The stratesy for the education and development of human resourees for any nation should be
based on :

(A)  The character and tradifions of ifs people

(B)  The stage of the country’s development

(C)  The wealth of 1ts students and teachers

(D)  The opportunities available for its development

Choose the most appropriate answer from the options given below -

Rt off g = Forg v e S T =it Forerm ) iy et 2 e

(A) T TmmsImdtsEiwwHE w (B) metEmmsamwm
(C) == o o s s e w D) == e % foy wws ssmi =
I fae o e § B HAE ST I 9 599 S

[Question ID = 65][Question Description = 165_09_Education_0CT22_Q65]



1. (A) and (B) only
5 (A) 3 (B)

[Optic_)n .ID = 257]
| 2. (&), (B) and (D) only
=4 (A), (B) 3 (D)

[Option ID = 258]
{(C) and (D) only

& (C) #t (D)

I—[Option ID = 259]

4. I DIL].}'

=@ (D)

[Option ID = 260]

UCA

) Mateh List I with List II

TastT List 11
(Impairments) {Aids/appliances)
{A)  Awural Impairments (I) White canes
(B) Skeletal Abnormalities {II} Communication Boards
(C) Oecular Impairments (III} Hearing Aids
(D) Language Impairments IV) Wheel Chairs

Choose the correct answer from the options given below:

I % 3w 11 5= = forem $ifsm

21URY OF E

-1 =
ECend TErT A /T
) we wre denEE (FAE-) I ===
) TR (Sheed ) gveRd] sEmTEal (I0) =g =
(C) 5 grel g (sdad=24) (TIT) ==t %=
(D) yrm FrEs g (FEE) (IV) =A==
et fe o el F 2 w8 3 @ =9 Fif

[Question ID = 66][Question Description = 166_09_Education_0CT22_Q66]
1+ (A)-(I0), (B)-(D), (C)-IV). (D)-(IID)
[Option ID = 261]
2. (A)-(II), (B)-(, (C)-(I), (D)-(IV)
[Option ID = 262]
3. (A)-ID), (B)-QV), (C)-(1ID), (D)-T)
[Option ID = 263]
4 (A)-{IID). (B)-0V). (O)-@), D)-ID

[Option ID = 264]



67) Mateh List I with List IT

ListI ListIT
(Quality Enhancement Programme) (Mandate)
(A) Deeksharambh (I) Faculty Development
(B) Jeevan Kaushal (II' Induction programme for students
(C) Guru Dakshata (IIT} Preventing publication in predstory,

dubious and sub-standard journals

(D) Consortium for Aecademic Research (IV) Imparting life skills to students
and Ethics

Choose the correct answer from the options given below:

AT avy I A= @ e firan

UCATION

11 =10
(Torer At FEA) { )
) AERA @ Fw P
D’B) i Fha (M) = & o e S
lC) = wEm (D) Tt (=), 57, W 3w e
. s (journals) § TR T AT

E

AT AHIE T A () F A (V) 2 F A Ee e £ e
T )

OF,

=1 Tam T TaEw AR A T W =T A0

Y,

Question ID = 67][Question Description = 167_09_Education_0CT22_Q67]
(A)-TD). (B)-V), (C)-4D), (D)-TD)
Option ID = 265]
(), (B)-(IVY, (O-(III). (D)@
[Option ID = 266]
(J)a-av. @, ©-o, ®)-am

[Option ID = 267]
4 (A)-0V), B)-ID), (O)-1I), D)-D

[Option ID = 268]

68) Match List I with List I

ListI List II
(Programmes on Education) (Focus Area)
(4) Kasturba Gandhi Balika Vidvalaya (I In this programme_ the women's

groups are themselves allowed to
set up their agenda and priorities

(B) Mahila Samakhya (I) In this programme. residential
schools are =et up for girls in
educationally backward blocks

(C) Rashtriva Madhvamiec Shiksha Abhivan (II1) In this programme, the focus is on
enhancing the aceesss to
secondary education as well as its
guality.

(D) Ek Eharat Shreshtha Bharat Abhiyan (IV) In this programme_the focus is on
celebrating the unity in diversity
of the country

Choose the correct answer from the options given below:

pbofghbk;eu



T 1 % w11 5= & e #ifae

w1 =
(Foren Tv =) (w1 49 (WiEE W)
(A)  shEgcen Tt afe femem Iy w5 = d aigenad  wE F 9 wE % Ey
TS ETEAT aEaTd (WErdE) qeEwad = &
ET B R
ZB) et T () =8 Fwn ° s =0 4 ot == § stamed
% o freradt fommem =niom fen = £
OG) TR T T ahEE () @ wiwm § s e 7= w9 w =
i Dl I # weE T ws e T
I_CD} U T 3 T e V) w0 =4 § 20 9 fiftws § @ w s
TE T A B
%ﬁnmf&wﬁﬁ%a@mmmﬂﬁm:

(J)uestion ID = 68][Question Description = 168_09_Education_0CT22_Q68]
:)fm-{n, (B)-I), (O-(1D), D)-IV)

Option ID = 269]
(A-(IV), (B)-(IIL), (C)-(II), (D)-I)

Option ID = 270]
3. (A)(D. (B)-AV), (C)-(IID), (D)D)

LL[Option ID = 271]

Gﬂa--:m, (B)-(I). (C)-(IV), (D)-(IV)

[Option ID = 272]

: 69) Mateh List T with List IT

List I List I
) (A) Blended Learning (I) A learner learns where computers/ smart phone

with Internet connectivity ars available

I— (B Omnline Learning (II) A learner learns in a classroom as well as at
distance through on-line learning

CD (Cy Wik (IIT) A learner learns face to face in a classroom
situation

(D) Offline learning (IV) It is a website for reference

Choose the correct answer from the options given below:

= T % e L5 =1 frems S

=1 =l

(A) wEz W M B = vEw # ww e e ¥ e gl
g R

(B) mienes afirm () o %94 § 964 = 79 7@ @ 49 W ww=e
Hfe ey | 9 w9l 2

(€ fh () o Fa1 4 wg =93 s S a3 wea 2

(D) #iweTE i (V) wed 79 78 W FEETEc |

et fom o el | # wE 3w 0 99 Fia -

[Question ID = 69][Question Description = 169_09_Education_0CT22_Q69]
T (AL, (B)-(IID). (C)-(T). (D)-V)
[thion ID = 273] -
2@, B)0, (O-0V), @1
[Op;ion I[_)_= 2_74]_
3 (D), (B)-D), (O)-IID). (D)-AV)

[Option ID = 275]



4. (A)-@V), (B)-(III), (C)-L), (D)-(I)

[Option ID = 276]

70) Match List T with List IT -

— @
O @
I: ©
<E i0)
O

Las=t]
Demonstrative Model of Curriculum
Development.

Grassroot  Model
Dievelopment
Administrative Model of Curriculum
Development

Hilda Taba Model of Curriculum
Development

of Curriculum

3&1 F = 11 g5 % frem iy

D

LLp

QF

(©

Gm

|_

guEn SEE w5 e aise

Wreawn fawm =1 Sl ofew
TremE s = TEiEE uiew

e e = e o iz

Tl
M

IV)

List IT
It proposes that curriculum should be
developed by the administration and
implemented by Teachers in classroom
In this mpdel, Top-Down approach is
followed
In thi= model Bottom-up approach is
followed

This model is used to enhance the
thinking skills of students

Choose the correct answer from the options given balow:

=11

on B T 59 e 3t =gy 3
AT g A TR = =R |

(II) ¥ wizs § T9-=54 39w (30is) 1 3™

et

(Il) ¥ wige & sgA-a1g 9w (w§i=) 5 F=Fm

[ETiE il

V) = Aiza # I9@ oE 5 HE & w1 =

e % o e = 2

q'
e B e £ e e e e S

(ﬁt(lestion ID = 70][Question Description = 170_09_Education

A)-(I), (B)-(IID). (C)-(IV), (D)D)
[Option ID = 277]
2. (A)-(III), (B)-(IT), (C)-(IV), (D)-(T)

[Option ID = 278]
3. (A)-ID), (B)-(IID), (C)-V), (D)D)

[Option ID = 279]
4. (A)-IV), (BY-(ILD. (C)-(ID). (D)

[Option ID = 280]

71) Match List I with List IT

(&)
®)
(©)
D)

ListI Last IT
(Psyehological Theory) (Developer)
Psychoanalvtic theory (Il Tolman
Field theory (II) Allport
Sign theory of learning (TIT) Lewin
Trait theory {IV) Freud

§CT22_Q70]
OPREC ot
&

Choose the correct answer from the options given below:



T 1 = = 1 g & e i

=1 =1
(e fargra) (Forrrtl)
(A) TAETETTEE T (h =i
(B) & Taga (Fies @it) (1) aferdré
Y Toew (mvd) wfrm T (III) A
) T fefrem R V) wms
fom el § & W 39w =99 A

JA)-IV), (B)III). (C)-T). (D)4ID)
Option ID = 281]
( 2. )AHW}. (B)-(ITD), (C)-(aD), M)-T)

DOption ID = 282]
(A)-(IID), (B)-(IV). (C)-(I), (D)~(ID)
Option ID = 283]
- HA)-(ID), (B)-@), (C-(IV), (D)-(ID)
[Option ID = 284]

) Match List T with List IT

estion ID = 71][Question Description = 171_09_Education_0CT22_Q71]

Last1 List IT
> {Theories of the States) (Area of Focus)
(A) The Classical-Liberal Theory {I), Emphasis on individualism and general
D welfare
(B) The Maxist-Socialist Theory (II) Emphasises the supermacy of the State
) (C) The Nationalist-Totalitarion Theory  (III) Propagation of Socialist conception of
the State
I (D) Progreszive-Liberal Theory (IV) Propagates that State is a promoter of
CD ‘social welfare and protector of

individual rights

Choose the correet answer from the options given below:

Tt 1 % mm 1154 = frem S

T

=% g
(A) =i — JenEr g
(B) wrHad - wrEE g
(€ gandf - s g
(D) vfaefer - sarerd fag

S fom o Reret © 9 6 3w w0 =9 i

=11
iy &=
(1) Sarr=maE 3 e AF-Fa T 9
(ID) wr=a < wfaeers (geoE) @ uw
(IIT) === =i =T SEEn = F=H-5En
IV) = FEn = w=-wn @ 2 oo
IR weA A of ST O A
=% wfher = e 3

[Question ID = 72][Question Description = 172_09_Education_0CT22_Q72]

1+ (-0, B, (-1, -V
[Option ID = 285]

2. (A)-(IV), (By-(IL), (C)-(III), (D)D)
[Option ID = 286]

3. (A)-(ID), By-IV), (C)-D), D)D)

[Option ID = 287]



4. (A, (B)-D), (C)-(1D), D}-IV)

[Option ID = 288]

73) Match List T with List IT

List1 Last T
{Philosophy) (Source of knowledge)
(A) Jain Philosophy (I} Perception is the only valid souree of knowledge
(By Carvaka Philosophy (II) Perception inference and testimony are souress of
valid knowledge

(C) Nyvava (IIT) Perception, inference. comparison and testimony
' are valid source of knowledge

(D} Prabhakara (IV) Perception inference, comparison, testimony and

postulation are valid source of knowledge

Choose the correct answer from the options given below:

I & = I gt it foemt i

DUCATION

=11 =10
Ay e (D) = (W) 9 & TEEE 39 E561 E |
LLlB} AT T (@) = (FE=), 306 (555) T8 T (TEEE) TH S B wmE |
(C) =mm (M) =19 (WE=H), ¥ (T, 709 @ T (TAAE) 760 F 39
Ll_ aE
OD) B (IV) =% (W), s ($56e), aoml, we (Zeies) v i
(TR ) TR S AU EA |

> 1= Tz fasea § 1 98 = 91 == i -

m:estion ID = 73][Question Description = 173_09_Education_0CT22_Q73]
=NA)-(T), (Bi-IIh. (C)-(IV), (D)-(IID)

Option ID = 289]
IZ_'(AJ-KHT)_. (B)-(IV). (C)-(I1). (D)-(T)

Option ID = 290]
(4)-(D). (B)-(D), (C)-41I), (D)-aV)
[Option ID = 291]

4 (A)-IV), (B)-IID), (C)-(I), (D)-(ID)

[Option ID = 292]

74) Mateh List T with List IT

ListI ListIT
{(Theory / concept) {Description)
(&) Development of theories (I}  Assessment studies

(B) Finding solution of immediate problems ina (II) Applied Research
particular setting without generalisation of
findings beyond the situation studied
{C) Adaptation of theories (IIT) Aection Rezearch
(D) No hyphotheszes are proposed or tested (IV) Basic Research

Chooze the correet answer from the options given below:



T I Hawm I gh = e $fm

I I
{fogTa | armemom) (o)
(A TogE = T (I) F=es (wEeEe) e

(B) awwed F O & = Feedl & et g (4D swemts (vt (goese) seees
e = foom TR d T @Eema =

) Tl =1 sEge () Framars sEem
D) Tt ot afesn = wemiEsm = wihee T B (V) aferd e
G
T o e © ° W I %7 =99 A

w.lestion ID = 74][Question Description = 174_09_Education_0CT22_Q74]

(A)-(1). (B)-(1T). (C)-(II). D})-IV)

Option ID = 293]

(Y BB P

[Option ID = 294]

LL sy an, ®-av, -0, oram
[Option ID = 295]
AJ-I15), (B)-), (C-(IV), (D))

OOption ID = 296]

>75) Mateh List I with List IT

Last I List II
D (4) Educationsl Guidance (I) It assists students to make a detailed study of
careers they intend fo pursue and also acguainting
’ them regarding different avenues of work
(B) Voecational Guidance (IT} It assists in developing study hahits, for selecting.
I_ curricular/co-curricular activities. and also helps in
knowing about the availability of scholarships
CD (C) Personal Guidance (III} It assists the students 1n certain issues related to
health. moral ideals, and interpersonal relationships
(D) Counselling (IV) It i= a face to face relationship for the purpose of
helping the counselles

Chooze the correct answer from the options given below:

o=t 1 = w11 3= = foens it

w1 =

Ay o= i M) =% o %1 5 83 % ooy 79 H ° oug w0 ¢ (9w 3
I ST £ MR W ® fafye deed & 79 T 5w ae
ft =@ Bl

(B) wz=atas o (D) 7 gt /Tg-gEmd FrdEaTd #1999 HH § Tga +4 3,

WoAE WEd e W § mEeE 3, 99 oogEl &
T % AR ° A w w0 e = R

(C) Al Friem (II) =% ol = w@es, i, ae, 9w ga9u] § a5 39
HeE § g W

(D) (IV) =% vt 8 qaraa +E & Iooyd § s 9w Fay |

= o o forred & # w3 9 =99 dfe

[Question ID = 75][Question Description = 175_09_Education_0CT22_Q75]
- (A)-). (B)-(II). (C)-(I1T), D)-aV)
[O_ptior_1 ID = 29_7]
2 (AN(ID. B)-(D. (O, D)-AV)
[Option ID = 298]
3. (A, (By-(II), (C)-(IV), (D)-(D



[Option ID = 299]
4. (A)-(ID), (B)-(I0), (C)-(T), D)-(IV)

[Option ID = 300]

76) Arrange the following scales of measurement in a descending order from higher scale to lower
scale:

Z (A)  Ozdinal (B) Ratio

(C)  DNominal (D) Interval
O Choose the correct answer from the options given below :
T = Freiteien S S S e ¥ e e 3 Ho0E B ¥ S9eieds =+

|_

) wE HEEEE (SE) B) 29 (@)
Y A (AiEE) D) HF=a (3=84)
ez u fomoal § & =81 390 91 =99 S -

[Question ID = 76][Question Description = 176_09_Education_0CT22_Q76]
(A)— (C) — (D) — (B)

Option ID = 301]

I l IC)—*{AJ—* D) — B8

[Option ID = 302]

L|._(B)._-.+;a);. — (&) = ()
OOption ID = 303]
B)— (D) — (C) — (A)

>_[Option ID = 304]

) Arrange the following Indian Philosophers in Cheronological Order of their vear of biorth:
D (4)  Aurhoindo Ghose
(B) Swam Vivekananda
I_ (C) J Krishnamurti
CD @) Rabindrs Nath Tagore
Choose the correct answer from the options given below :

Pt st sstonfert #1979 w0 od & wremn | soafi &

(A) anfEg g

B) @ ews

(C) = Fom

(D) g M B

F= fou o e O € W 39 9 =8

[Question ID = 77][Question Description = 177_09_Education_0CT22_Q77]
1. {A), (B). (C), (D)

[Option ID = 305]
2. (D). (C). (B). (A)

[Option ID = 306]

D), BLALO

[Option ID = 307]
4. (D). (C). AL ®)

[Option ID = 308]



78) Choose the correct vear of Publication of National Curriculum Frameworks out of the following
and arrange in sequential order :

(A) 1972
(B) 1975
(Cy 1987

@ 2000
:EE (E) 2005

O Choose the correct answer from the options given below :

Fﬁmﬁ%ﬂﬁﬂnﬁamm{m}%m%@ﬂwaﬁﬁwﬁﬁmﬁmﬁﬁ

) 1972
y 1975
1987

RFJ

d) 2000
) 2002

LIJ& Tou ™ et § B W I W T

LtQJestion ID = 78][Question Description = 178_09_Education_0CT22_Q78]
A)— D) — (B)
[Option ID = 309]

2_(B)— D) —~(®

[Option ID = 310]
3. 1B)— (C) — (B)

)Option ID = 311]
0 — (D) —(E)

I_[Option ID = 312]‘
)

79) Planning, as the basic function of educational management, involves certain steps. Arrange
these in saquential order -

{4)  Developing planning premises
(B)  Establishing goals

(C) Charting out various alternatives and choosing from among them the most suitable
alternative for reaching the desired goals

(D) Determining and allgeating the resources required
(E)  Ensuring that plans are communicated to all the concerned
Choose the correet answer from the options given below -

W yorum 5 e = F w0 A, T 3o s /I wifte 3 | 3 Fen e w s
(A) e i T EEE
(B) =& = T

() fofaw fawed 91 st s 3t wifs wedt i o 7g = 2 affie sugws fawe =1 =
AT

(D) wrifigs smeE &l ot aEs
(B) =% afifTas won 5 oot geafet =) rensd = = o g =0 ey w2

9 oo o fomedt § 9 W T W =9 S

[Question ID = 79][Question Description = 179_09_Education_0CT22_Q79]
1. (A), (D), B). (E), (C)

[Option ID = 313]



2. (A), (B). (E), (C), (D)
[Option ID = 314]

[Option ID = 315]
4. (B, (C). (D), (A), (E)

ZOption ID = 316]

O) Arrange the below listed requirements of an Individualized Education Plan (IEP) in sequenece
from beginning to end -

"— &) Statement of current level of performance

I_ (B) Statement of aszesement of student’s achisvement

< (C) Statement of preliminary information about the student

D) Statement of aids, services, modifieations and supports to be provided to the child
O (E) Statement of Academic and Functional goals

D Choose the correct answer from the options given helow -

e L e A T 1o 2t e B B oo o 1 B 1 B 2 o T e R [ o o el

T & T0HE 9 S59H

-

(B) o=l & soeveadl & S (TEER ) F 9E
LL(‘.) Taenell & &7 | UNEaE IEEE F T
O)} == A1 e S S AT S S, JA, i T SRl (E6eE ) a0 %59e
(B)  Hfias 79 SEieas (HaeeT) Tiedl o T
: 3= T2m T Taeed] § W A T & A i
uestion ID = 80][Question Description = 180_09_Education_0CT22_Q80]
1. J(C), (E), (A). D), B)
Option ID = 317]
2 (©). (), (B), D), (B)

[Option ID = 318]
- (A), (C). (B, (E). (D)

[Option ID = 319]
4. (B), (BE). (A). D), (O

[Option ID = 320]

w

81) What is the correct order of the process of portfolio development?
(A)  Colleetion {B) Display
(C)  Reduction (D) Reflection
Choose the eorrect answer from the options given below :

Tl s w1 T w we-m R

(A) T (EeEEE)

®) = ()

(©) g (=)
D TrEd (free)

= fou e fEwea § B 9 9 9 =4 e

[Question ID = 81][Question Description = 181_09_Education_0CT22_Q81]
T {A)—(B)—=(C)— (D)

[Option ID = 321]



2 D —A)—iO—®

[Option ID = 322]
3. (D) —(C)— (B)— (&)

[Option ID = 323]
4 (A)—= D)= (C)— @)

Option ID = 324]

Arrange the fa]luwing committees and commissions in order of their establishment .

~

(A) Justice Verma Committes

(B) National Enowledge Commission
(C) National Commission on Teachers
(D) Secondary Education Commission

CATIGN,

Choose the correct answer from the options given below -
D alrdt s s 5 waren 3w A
() ot
: TER T HEA
(C) wdw Ty s
Llp mofrs firgr s

@ﬁqwﬁmﬁﬁﬁﬁmmm#&q:
[Question ID = 82][Question Description = 182_09_Education_0CT22_Q82]
fA) (B). (€). (D)

Optlon ID = 325]

:ﬁmmm

[Opt1on ID = 326]

@M@@

CDOptwn ID = 327]

4.7 (D). (B). (). (©)

[Option ID = 328]

83) Arrange the following stages of cogmitive development as recommended by Piaget:

(A) Sensorimotor stage

(B) Conerete operational stage
(C) Pre-operational stage

(D} Fur-mai operational stage

Choese the correct answer from the options given below :
famst g sppEtes FovrEs (FrotE) e s e e S v i
(A)  foend s (F Al w2)
(B) g oferee st (§ wtaEs )
(€ o i wwon (Wi S 29)
D) =T T ST (R TS o)

= o o oo & 98 39 1 994 Firan

[Question ID = 83][Question Description = 183_09_Education_0CT22_Q83]
1. (A), (C), D), (B)

[Option ID = 329]
2. (A), (BL(C). (D)



[Option ID = 330]
3 (B), (C), (A), D)
[O_ption_ID = 331]_
4 @A), (0. ®B). D)

[Option ID = 332]

Z) Arrange the following stages for developing and implementing a curriculum framework :

(A) Preparation

(B) Development

(C) Evidenee gathering

(D} Implementation

(E)  Monitoring and Evaluation

CATIO

Choose the correct answer from the options given helow -

w9 (eurriculum framework) 1 fowtia 7an Fa=0 #1 % s =07 = #9 #9 0

O .
Ll-(ll o
LY T

d} mﬁ'ﬂq
) P (s e g

ﬁﬁw%ﬁﬁﬁaﬂwmm%:

m.lestion ID = 84][Question Description = 184_09_Education_0CT22_Q84]
- (A), (B, (C). (D). (E)

:Option ID = 333]
2t ). ®). ), ®)
wOption ID = 334]
“{A). (C). (B). (D), (E)
[Option ID = 335]
4. (A), (B). (), (E). D)

[Option ID = 336]

85) Arrange the following stages of Total Quality Management im a sequence proposed by Dahl-
gaard, Kristensen, and Kanji (2002) :

(A) Guality Control

(B Total Quality Management

(C) Quality Inspection

Dy Guality Assurance

Choose the correct answer from the options given below -

To-mE, framn, oftt = (2002) g wEaiEe oo 1o 99us (Total Quality Management) &
fFefatas =T = FaEn e 9

(A) T e
(B) ot v e
(€) o Figm

D) T A
= Tom o et & 2w =m @ w9 Eiha



[Question ID = 85][Question Description = 185_09_Education_0CT22_Q85]
1. (A), (B}, (C), @)

[Option ID = 337]
2. (D). (C). (B). (&)

[Option ID = 338]
3. (C), (A), D). B)

zomion ID = 339]
(B), (C). (D, (&)

[Option ID = 340]
A

I 86) Given below are two statements:

Statement I - All educators are potentially leaders. in that all may ereate followers by
influencing those around them, whether as heads of departments. teacher
leaders, principal or vice-chancellor

’ Statemet II - Leaders in educational administration are concerned with responding to

: diversity among learners
In the light of the shove statements, choose the correct answer from the options given below
% g w7 fag e #:

le:l: a4t g airer S (Fiee) £, & ot S S o e W 9w SR R S A
= gE 2 o= Eunmma i MaEm R, Bew owm o ow oamd @ oseseie #
Fera ||

>ﬂ‘—[1‘[; g wamE= 4 Fmad (Fied) =1 arn G § e (owedtd) & o mEed
D {(Toaif=E) 5 &)
ST o el |, S o T el 0@ A 3a0 w1 e it

[Question ID = 86][Question Description = 186_09_Education_0CT22_Q86]
- Both Statement I and Statement IT are true

T I o et e 2

[Option ID = 341]
2. Both Statement I and Statement II are false

g 1 it 11 51 s 2

[Option ID = 342]
3. Statement I is true but Statement II is false

s [ w0 B, wfem s 11 oy 3
[Option ID = 343]
4. Statement I is false but Statement II is true

w1 o 3, wfea = 1w 2

[Option ID = 344]

87) Given below are two statements:

Statement I : Rather than just focussing on what learners are expected to learn in terms
of traditionally defined subject content, competeney based curriculum
emphasizes the various outcomes of & learming process such as skills.
knowledge and attitudes to be applied by learners.

Statement IT : Competency based curriculum allows students te take responsibility for
their education.

In the light of the above statements, choose the correct answer from the options given below



A g wa e &

w2 (1) : FE TH W WA o % o W =9 4wty favd o % weed 3§ faefe #
T Fom amifge 2, sgorin (EResh #ws) wewEw HeH ) W % SR
(amsewrs) W &9 F 99 whww, w9 o g (degazs), T haefet oo
m%ﬂﬁiﬂ’%[z_ﬁmﬁg}

Zm(II): B ST TeTEs et =t aw e eefmi a S e
Gﬁﬁmﬁ; w4, A fon e foseea ¥ 4w 3w @ 99 St

m=f@uestion ID = 87][Question Description = 187_09_Education_0CT22_Q87]
| Boths Statement I and Statement Il are true

<¢m1 v 11 = |y 2

‘ ,Option ID = 345]
- Both Statement I and Statement I1 are false
DEEEFE 1 =t I & sme 3

Option ID = 346]
I-Iftatamant 1 i= true but Statement 11 iz false

o 1w B, s s I owey 2

Option ID = 347]
Statement I is false but Statement IT 1s trus

w1 amreg 3, i wue 1159 2

> [Option ID = 348]

;J) Given below are two statements:

-

Statement 1 ; Rubrics ean be used for peer feedback
Statement 11 ¢ Rubries can be used only for paired-peer feedback

In the light of the above statements, choose the correet answer from the options given below

TR s Erm

a7 (1) : TG 97 T TEEE] BiAd & o0 T = HE B
F= (1) AT A ST S 9151 F TEEE (T 1) e s e A E |

T T F A 4, A E T e 9§ F g6 I 9 =T A
[Question ID = 88][Question Description = 188_09_Education_0CT22_Q88]
1. Both Statement I and Statement I1 are true

g ] S llgsaT

[Option ID = 349]
2. Both Statement I and Statement II are false

o] s smsg 2

[Option ID = 350]
- 3 Statement I is true but Statement IT is false

o 1 7 R, v v 1 o

[Option ID = 351]
4. Statement I is false but Statement II is true

w7 1 o 3, et e [ v 2



[Option ID = 352]

89) Given below are two statements:

Statement I - Assessment i= a systematic process of i1dentifying. collecting, and
mterpreting information about the students” learning

Statement I1 - Assessment results must be communicated in a clear and transparent way

Z In the light of the above statements, chooze the correct answer from the options given below

Oé"ﬁwﬁt{ﬂﬁﬁ:

|_aﬂm: s Rl 3 aftn 3 9t § vl e o, o @i =0 i s
TR W W T S WA |
an: iR F whom 9 sy s T showed 7 A wfv e v e |

v W % ATes 0, i (5 T e 0 3 5E S s =969 sty -

uestion ID = 89][Question Description = 189_09_Education_0CT22_Q89]
Both Statement I and Statement I are true

LUqu | B

[Option ID = 353]
LL-BDt-h Statement I and Statement I1 are false

wu ] o I & w2

[Option ID = 354]
>! Statement I is true but Statement 1 1s false
Dm 1 = B, == was 11 ey 2

'Option ID = 355]

. Statement I is false but Statement II is true
g | o 3, Al wea e 2
[Option ID = 356]

90) Given below are two statements: one is labeled as Assertion A and the other is labeled as
Reason R

Accertion (A):  Though ex-post facto research examines cause and effect but it is not part of
experimental research

Reasons (R) - In ex-post facto research, effect of independent varahle has already taken
place.

In the light of the above statements, choose the most appropriate answer from the options
grven below

3 5 % fog e 3w e (Assertion A) ¥ =9 # fafias 2 7t @@ 983 107 (Reason R) ¥ =9
"

ST (A) ; T -y bad sEEuE S ot e ) W S § W 3R e
FTFEE AW TE ¢
= (R) : -z Herdl SR 1 TEdd = F Y6 g B R = AR |
I T+ e 4, e e e § 9w 3w == S
[Ques'_cion ID =l90_][Quest1'on Desqriptio_n = 190_09_I_Education__OCT22_Q90]
1. Both (4) and (R) are correct and R is the correct explanation of A
(&) 3t B) o 7 £ site ). (A) F1 = s



[Option ID = 357]

2. Both (A) and (R) are correct but B is NOT the correct explanation of A

3.

(A) 3t (R) =1 oo 2, S (R), (A) ) = sarem 76 2

[Option ID = 358]
(A) 1= correct but (R) is not correct

(A) 77 # wfE (R) g 3

Option ID = 359]
0 A) 1= not correct but (R) 1s correct

(A) 3 8 2 == (R) 53 2

T

<Option ID = 360]

Y OF EDUG

ic:- 9_PARTB_Set1

Read the following paragraph carefully and answer the following five questions:

As with any change. regardless of advantapes and dis-advantages. there are several barriers to
the successful implementation of inclusion These include organizational barriers, attitudinal
barriers and knowledge barriers. Organizational barriers inelude the way schools and
classrooms are organized Thiz could include physical organization as well a= how the
schedules are developed and how classes are assigned to teachers. Attitudinal barriers focus
on the beliefs of teachers. administrators, and other school personnel about students with
disabilities ‘and inclusion. Enowledge barrers are simply the limited knowledge about
students with disabilities and inclusive teaching strategies While all of the=e barriers could
make it difficult to have a successful inclusive education programme. each one can be
overcome with various strategies. It is the school’s role to overcome these barriers so that
students with disabilities can receive an appropriate education with their non-disabled peers.

([ Ryt e 3t s w2 e g A g o e 7 4
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el w0 S A T T 2 T M 0 T e o S 5T E, o #)| sl s
e e o e e I o e et ey e s B s g e o B o R o el o O R
fafers ot = e @ S & 39 = wE B | Toeem @ 9 e E T R s @ em R A

Frowaa g T 91 R /- wiE e 99 5 st e T a7 61w |

In this paragraph. the attitudinal barriers to inclusion refer to:
w mare A, T & wfgfe End @ afinm 2

[Question ID = 91][Question Description = 191_09_Education_0CT22_Q91]

1.

Limited knowledge of teachers about inclusive pedagogy
st e gl (derrt) & on d s - Hita = |

[Option ID = 361]
Attitude of parents of students with disahilities

P e b v a1 e

[Option ID = 362]

- Attitude of non-disabled peers

- s wEwtent (frd) i ofiafs 2

[Option ID = 363]

- Behefs of the school teachers and administrators about students with disabilities

Rt e e % ot Porarers % e ot v ) wrerana farona (drefe) 3



[Option ID = 364]

2) Read the following paragraph carefully and answer the following five questions-

As with any change, regardless of advantages and dis-advantages, there are several barriers to

the successful implementation of inclusion. These include organizational barriers, attitudinal

barriers and knowledge barriers. Organizational barriers inelude the way schools and

classrooms are organized Thi=s could include physical organization as well a= how the

Z schedules are developed and how classes are assigned to teachers. Attitudinal barriers focus

on the beliefs of teachers. administrators, and other school personnel about students with

O disabilities ‘and inclusion. Enowledge barriers are simply the lLimited knowledge about

students with disahilities and inelusive teaching strategies While all of theze barriers could

s make it difficult to have a sucecessful inclusive education programme. each one can be

I_ overcome with various strategies. It is the school's role to overcome these barriers so that
students with disabilities can receive an appropriate education with their non-disabled peers.
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Organizational harriers to inclusion do not relate to:
TSR % TS Y T TEgT 76

Q.Aestlon ID = 92][Quest10n Descrlpt1on = 192_09_Education_0CT22_Q92]
Famlymnbarsnﬁutuﬂmts‘mthdmthﬂmﬁs

I—%ramm' [T g & - @
C{)Option ID = 365]
- Teachers
FATTE H

[Option ID = 366]
3. Classrooms

HEAA H

[Option ID = 367]
4. Schedules

wEg-mto (fagges) #
[Option ID = 368]

3) Read the following paragraph carefully and answer the following five questions-

As with any change. regardless of advantages and dis-advantages, there are several barriers to
the successful implementation of inclusion. These include organizational barriers, attitudinal
barriers and knowledge barriers. Organizational barriers include the way schools and
classrooms are organized This could include physical organization as well as how the
schedules are developed and how classes are assigned to teachers. Attitudinal barriers focus
on the beliefs of teachers. administrators, and other school personnel about students with
disabilities ‘and inclusion. Enowledge barriers are simply the lLimited knowledge about
students with disabilities and inclusive teaching strategies While all of these barriers could
make it difficult to have a successful inclusive education programme. each one can be
overcome with various strategies. It is the school's role to overcome these barriers so that
students with disabilities can receive an appropriate education with their non-disabled peers.
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Why should the schools overcome barriers to inelusion?
S ] HETONR % Sl E g e S
(-Question ID = 93][Question Description = 193_09_Education_0CT22_Q93]
. )Because students with dizabihties do hetter when served in inclusive education

it o ool soEeh o § 9 w2

Option ID = 369]
LlJl ‘o fulfill the legal obligations

Ll_‘wﬁq-ﬁarﬁm:iaifwaﬁ%%ql

T LS SRS Y1 W S———

Ql?ption ID = 371]
D- o meet the demands of the society
AT AW E T * fam)

I_[Option ID = 372]
p)

4) Read the following paragraph carefully and answer the following five questions:

As with any change, regardless of advantapes and dis-advantages. there are several barriers to
the successful implementation of inclusion These include organizational barriers, attitudinal
barriers and knowledge barriers. Organizational barriers inelude the way schools and
classrooms are organized Thiz could include physical organization as well a= how the
schedules are developed and how classes are assigned to teachers. Attitudinal barriers focus
on the beliefs of teachers. administrators, and other school personnel about students with
disabilities ‘and inclusion. Enowledge barriers are simply the limited knowledge about
students with disabilities and inclusive teaching strategies While all of the=e barriers could
make it difficult to have a successful inclusive education programme. sach one can be
overcome with various strategies. It is the school’s role to overcome these barriers so that
students with disabilities can receive an appropriate education with their non-disabled peers.

foreafetia e i sas 12 ot e e e gt e o g
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Which of the following 1= NOT indicated a barrier to the suceessful implementation of
inchision?
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[Question ID = 94][Question Description = 194_09_Education_0CT22_Q94]
1. Knowledge barrier

TR S

[Option ID = 373]

s Option 1D = 374]

ttitudinal barrier

et 25

Option ID = 375]

rgamzational barrier

:)mwm

Option ID = 376]

Read the following paragraph carefully and answer the following five questions:

As with any change. regardless of advantages and dis-advantages, there are several barriers to
the successful implementation of inclusion These include organizational barriers, attitudinal
harriers and knowledge barriers. Organizational barriers include the way schools and
classrooms are organized This could include physical organization as well as how the
schedules are developed and how classes are assigned to teachers Attitudinal barriers focus
on the beliefs of teachers. administrators, and other school persennel about students with
disabilities and inelusion. Enowledge barriers are simply the limited knowledge about
students with disabilities and inclusive teaching strategies. While sll of thes=e barriers could
make it difficult to have a successful inclusive education programme. each one can be
overcome with various strategies. It is the school's role to overcome these barriers so that
students with disabilities can receive an appropriate education with their non-disabled peers.
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The most appropriate title for the given paragraph would be -

ez & Y w1 watfn suge sids g
[Question ID = 95][Question Description = 195_09_Education_0CT22_Q95]

1.

Implementation regarding Inclusive Education
el i = wrew O wt=

[Option ID = 377]

Implementation of Inclusive Education

ToreEl e = FaieEa

[Option ID = 378]
- Barriers to Inclusion



[Option ID = 379]
4. Barriers about Inclusion
FOTETH & TTEY T WY

[Option ID = 380]
Topic:- 9_PARTC_Set1

Read the following paragraph carefully and answer the following five guestions:

In a ninth standard class of 50 students. the teacher administered test to measure
achievement of students in Physics and Chemistry, respectively. The mean and 5D of the class
for the achievement scores in Physics were 50 and 20, respectively whereas, the mean and 5D
of the class for the achievement scores in Chemistry were 20 and 5 respectively.

One student Rekha scored 30 marks in Physics and 26 marks in Chemistry Anether student
Reshma scored 58 marks in Physies and 22 5 marks in Chemistry. Another student Sameer
scored 46 marks in Physies and 19 marks in Chemistry. The summary of these scores is given

helow :
Subject Mean of the class | 8D of the class Rekha Reshma Sameer
Physics 50 20 30 56 46
Chemistry 20 5 26 225 19

F EDUCATION:;
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it R 50 20 30 56 16
T 20 5 26 225 19

Who had the best mean score on both tests?
a1 e 1 ween meg e e d 7
[Question ID = 96][Question Description = 196_09_Education_0CT22_Q96]
1. Rekha
T
[Option ID = 381]
| 2. Reshma
o
[Option ID = 382]
3. Sameer

i

[Option ID = 383]
4. Reshma and Sameer both

[Option ID = 384]



2) Read the following paragraph carefully and answer the following five questions:

In a ninth standard eclass of 50 students. the teacher administered test to measure
achievement of students in Physics and Chemistry, respectively. The mean and 3D of the class
for the achievement scores in Physics weie 30 and 20, respectively whereas, the mean and 5D
of the class for the achievement scores in Chemistry were 20 and 5 respectively.

One student Rekha scored 30 marks in Physics and 26 marks in Chemistry. Another student
Reshma scored 56 marks in Physics and 225 marks in Chemistry. Another student Sameer
scored 48 marks in Physics and 19 marks in Chemistry. The summary of these scores is given

helow :
Subject Mean of the class | 8D of the class Rekha Eeshma Sameer
Physics 50 20 30 a6 46
Chemistry 20 5 26 225 19
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had the best score on either tast?
i o uw wre ¥ waitas e e 7
[ nuestion ID = 97][Question Description = 197_09_Education_0CT22_Q97]

[Option ID = 385]
2. Reshmsa

T
[Option ID = 386]

3. Sameer

e

[Option ID = 387]
4. Reshma and Sameer both

[Option ID = 388]



3) Read the following paragraph carefully and answer the following five questions:

In a ninth standard class of 50 students. the teacher administered test to measure
achievement of students in Physics and Chemistry, respectively. The mean and 3D of the class
for the achievement scores in Physics were 50 and 20, respectively whereas, the mean and SD
of the class for the achievement scores in Chemistry were 20 and 5 respectively.

One student Rekha scored 30 marks in Physies and 26 marks in Chemistry. Another student
Reshma scored 56 marks in Physies and 225 marks in Chemistry. Another student Sameer
scored 48 marks in Physics and 19 marks in Chemistry. The summary of these scores is given

below :
Subject Mean of the class | 8D of the class Rekha Eeshma Sameer
Physics B0 20 30 b6 46
Chemistry 20 5 26 225 19
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i e 50 20 30 36 46
ki e 20 5 26 225 19

had the poorest score on either test?

Wt T 7§ WEd w1 U e 97

C fjuestion ID = 98][Question Description = 198_09_Education_0CT22_Q98]
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[Option ID = 389]
2. Reshmsa

Ty
[Option ID = 390]
3. Bameer

i

[Option ID = 391]
4. Reshma and Sameer both

[Option ID = 392]



4) Read the following paragraph carefully and answer the following five questions:

In a ninth standard eclass of 50 students. the teacher administered test to measure
achievement of students in Physics and Chemistry, respectively. The mean and 3D of the class
for the achievement scores in Physics weie 30 and 20, respectively whereas, the mean and 5D
of the class for the achievement scores in Chemistry were 20 and 5 respectively.

One student Rekha scored 30 marks in Physics and 26 marks in Chemistry. Another student
Reshma scored 56 marks in Physics and 225 marks in Chemistry. Another student Sameer
scored 48 marks in Physics and 19 marks in Chemistry. The summary of these scores is given

helow :
Subject Mean of the class | 8D of the class Rekha Eeshma Sameer
Physics 50 20 30 a6 46
Chemistry 20 5 26 225 19
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ki Eaic 20 5 26 225 19
had the most consistent scores on both tests?
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uestion ID = 99][Question Description = 199_09_Education_0CT22_Q99]
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=
[Option ID = 393]
2. Reshma

Eva
[Option ID = 394]

[Option ID = 395]
4. Reshma and Sameer both

[Option ID = 396]



5) Read the following paragraph carefully and answer the following five questions:

In a ninth standard eclass of 50 students. the teacher administered test to measure
achievement of students in Physics and Chemistry, respectively. The mean and 3D of the class
for the achievement scores in Physics weie 30 and 20, respectively whereas, the mean and 5D
of the class for the achievement scores in Chemistry were 20 and 5 respectively.

One student Rekha scored 30 marks in Physics and 26 marks in Chemistry. Another student
Reshma scored 56 marks in Physics and 225 marks in Chemistry. Another student Sameer
scored 48 marks in Physics and 19 marks in Chemistry. The summary of these scores is given

helow :
Subject Mean of the class | 8D of the class Rekha Eeshma Sameer
Physics 50 20 30 a6 46
Chemistry 20 5 26 225 19

CATION

A TE S Te At e 19 68 U Wi @ S h

0 Fernflat arett St w51 § wenem 3 ww O e w ws e § Gl s S

Tt B e%e forg | Wifoe g O SuefS-unis 34 #47 % U1 U O fases e 50 3N 20 €,
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i e 50 20 30 56 46
ki e 20 5 26 225 19

ﬂ:\o had the least congistent scores on both tests?
B\ s o B o= S == e e s A

F rjuestion ID = 100][Question Description = 200_09_Education_0CT22_Q100]
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[Option ID = 397]
2. Reshma

Tom
[Option ID = 398]
3. Sameer

e

[Option ID = 399]
4. Reshma and Sameer both

[Option ID = 400]
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F EDUCATION

The following table presents the details about the percentage (%) distribution of teachers
and the number of male teachers in six different cities (A—F). There iz a total of
4500 teachers in all the six cities together. Based on the data in the table. answer the
questions 1-5;

City-wise Distribution of Teachers

City + | Percentage of (%) Number of Male
Tentheis Teachers
A 14% 200
B 16% 400
C 28% 600
D 15% 100
E 21% 500
E o 06% 100

Q{mﬁfﬁ.ﬁ difersrl 4 @% fafu= 9ma (A — F) | el 1 aiaerd e a=1 ga9 e 6 @wen @ s @

STUDY,

21 i we wredl  Fel 4500 Feta & arfers 4 fau e sl & A w 9s 1 — 5 % 3 difu

e =1 sE—an faam

wrew L | el @ wiawE (%) | g e i aen
A 14% 200
B 16% 400
C 28% 600
D 15% 100
E 21% 500
F 06% 100

What is the total number of male teachers in City-F, female teachers in City-C and female
teachers in City-B together?

B
(3)

1080 (2) 1120
1180 (49 1020

w@-F 0 g e, s@i-C O ufeen fMaw @@ smi-B ° ofeen e A den |1 F@ am

TR
(1) 1080 (2) 1120
(3) 1180 (4) 1020

[Question ID = 1001][Question Description = 101_00_General_19_0CT22_Q01]
1. 1 [Option ID = 4001]

2. 2 [Option ID = 4002]

3. 3 [Option ID = 4003]



4. 4 [Option ID = 4004]

2)
The following table presents the details about the percentage (%) distribution of teachers
and the number of male teachers in six different cities (A—F). There iz a total of

4500 teachers in all the six cities together. Based on the data in the table. answer the

Z questions 1-5:
O City-wise Distribution of Teachers
I: City + | Percentage of (%) Number of Male
< Tk Teachers
O A 14% 200
D B 16% 400
D C 28% 600
LIJ D 15% 100
E 21% 500
% E 06% 100

>.ﬁmf‘f%+ﬁ.ard dfer & e fafa= =0 (A - F) 8 e #1 afcerd T aen gz9 fremel 4 d@wen # =6a fza
21 |l e 1edi O Fel 4500 fers §) arfer O fau e & s W v 1 — 5 % 3w difsr

STUD

vier b | ferrl 0 ufds@ (%) | gEw el i e
A 14% 200
B 16% 400
C 28% 600
D 15% 100
E 21% 500
F 06% 100

The number of female teachers in City-D i1s approximately what percent of the total numher
of teachers 1n City-A?

1) 75 @ 81
(3 95 @ 91

si#-D 4 g Fal 1 dem e -Ad Frageni 6 ga qe 1w e afiem 27

(1) 76 (2) 81
(3) 95 @ 91
[Question ID = 1002][Question Description = 102_00_General_19_0CT22_Q02]

1. 1 [Option ID = 4005]
2. 2 [Option ID = 4006]



3. 3 [Option ID = 4007]
‘ 4. 4 [Option ID = 4008]

3)
The following table presents the details about the percentage (%) distribution of teachers
and the number of male teachers in =six different cities (A—F). There 1z a total of

4500 teachers in all the six cities together. Based on the data in the table. answer the

Z questions 1-5;

O City-wize Distribution of Teachers

I_ City + | Percentage of (%) Number of Male
< Tamcheprs Teachers
O A 14% 200

D B 16% 400

D C 28% 600

LIJ D 15% 100

LL E 21% 500

O E 06% 100

Tetfetfian e 4 =2 fafe= s=0 (A — F) d M=l 1 ofasm Fea as g5 Bra 6 wen = = T

21wt T Tl H F9 4500 frers ) anfern 8 fau e smee 3 s w us 1 — 5 % 3 A

UDY

ST

s 4 | Tessl o widem (%) | gEe el S EEn
A 14% 200
B 16% 400
G 28% 600
D 15% 100
E 21% 500
F 06% 100

In which city is the number of male teachers more than the number of female teachers?
(1) B only (2) D only
(3) Both Band E (4) Both E and F

o v A o Fonerer o) w321 < ufen el 41 s 3 wfae 27

(1) a9 B (2 @EED

(3 BIWE=ZHEH (4 EsnFIAIY

[Question ID = 1003][Question Description = 103_00_General_19_0CT22_Q03]
1. 1 [Option ID = 4009]



2. 2 [Option ID = 4010]
3. 3 [Option ID = 4011]
4. 4 [Option ID = 4012]

K The following table presents the details about the percentage (%) distribution of teachers
and the number of male teachers in six different cities (A—F). There 1z a total of
4500 teachers in all the six cities together. Based on the data in the table. answer the
questions 1-5:

City-wise Distribution of Teachers

Z
O
IE City + | Percentageof (%) | Number of Male
O Taschors Teachers
: A 14% 200
D B 16% 400
Lu C 98% 600

D 15% 100
LI_ E 21% 500
O F 06% 100
>_

Q{L‘lﬁ{ﬁ.‘ﬁ aifersr 1 e fafa= wwd (A — ) 9§ foer w1 ofesr faeron qen g e 1 e = =i
21 @l o w1t 4 4 4500 e 2| anfer o Tau 0 S192] % A0 W 9 1 b o 3R Fife |

STY

s 4 | el ufdem (%) | gew el o e
A 142 200
B 16% 400
C 28% 600
D 15% 100
E 21% 500
F 06% 100

What is the difference between the total number of teachers in City-E and the number of
female teachers in City-F?

(1) 625 (2 715
(3) 675 49 725
iR - E ¥ foiere i gt dem ao wE-F 4 aieen T ) 56 & st w41 v

(1) 625 2 Tib
(3) 675 (4) 725



[Question ID = 1004][Question Description = 104_00_General_19_0CT22_Q04]
1. 1 [Option ID = 4013]
2. 2[Option ID = 4014]
3. 3 [Option ID = 4015]
4. 4 [Option ID = 4016]

(S,
~

DY OF EDUCATION

The following table presents the details about the percentage (%) distribution of teachers
and the number of male teachers in =six different cities (A—F). There 1z a total of
4500 teachers in all the six cities together. Based on the data in the table. answer the
questions 1-5;

City-wise Distribution of Teachers

City + | Percentage of (%) Number of Male
Tamcheprs Teachers
A 14% 200
B 16% 400
C 28% 600
D 15% 100
E 21% 500
F 06% 100

jrr—'l%rﬁ.aﬁ iferr 3 e fafia= wd (A — F) § forae o1 ufasr fero ae g fresi 40 gen 1 =h fan

ST

21wt T Tl H F9 4500 frers ) anfern 8 fau e smee 3 s w us 1 — 5 % 3 A

s 4 | Tessl o widem (%) | gEe el S EEn
A 14% 200
B 16% 400
# 28% 600
D 15% 100
E 21% 500
F 06% 100

What is the ratio of the number of male teachers in City-C to the number of female teachers

in City-B?
1y 11:15 @ 15:11
(3) 15:8 4 8:15



s~ C ¥ e forereh =61 s qun wie - B A wfen fam 1 wen # sera w37

(1) 11:16 (2) 16+11
. (3 15:8 4 8:15
[Question ID = 1005][Question Description = 105_00_General_19_0CT22_Q05]
[Option ID = 4017]

~_2 [Option ID = 4018]
[Option ID = 4019]

el [Option ID = 4020]
I

I Topic:- 11_GP_SH1_Set1_B

Which one of the following is the national repository of high guality resources on

foundational Iiteracy and numeracy?

(3 National Repository on Open Educational Resources (NROER)

<0
(2) National Institute of Open Schooling (NIOS)
I I I (4 National Professional Standards for Teachers (NPST)

L fresferfiem & 9 smermege avama qon sieas e Te TR S 4 e A2 37
>_(2} Tt e fererTera e (A T o )
dal T W i HAE WER (U AR S )

by v gfae fae aeee (A diva #)

Question ID = 1006][Question Description = 106_00_General_19_0CT22_Q06]
"= [Option ID = 4021]

[Option ID = 4022]
.3 [Option ID = 4023]

4. 4 [Option ID = 4024]

2) {Inder which initiative every student in the country will participate in a fun project/activity

on "The Languages of India’. sometime in Grades 6-87

(1 Make in India (2) Digital India
(3) Padhe Bharat Badhe Bharat 4 EK Bharat Shrestha Bharat

FeafeiEn | o 794 FEws | 291 B U (9aardi (e 6 —8 S H upEd 0 9 Seawg % grea

Tl UF FAE Tl T O 9 o 5

(1) "= 3f=n @ fefaea dfem

(3)  UB WA 42 WA (4) U M 4 Wi
[Question ID = 1007][Question Description = 107_00_General_19_0CT22_Q07]
1. 1 [Option ID = 4025]
2. 2 [Option ID = 4026]

3. 3 [Option ID = 4027]
| 4. 4 [Option ID = 4028]



3)

EDUCATION

Given below are two statements:

Statement I: It i= not desirable to have all the interest areas around the outside of the

classroom, leaving a large deadspace in the middle.

Statement IT: It is not desirable to put bookshelves next to the reading area and games

equipments by the game table.

In the light of the above statements, choose the most appropriate answer from the options

given below:

(1) Both Btatement I and Statement I are correct
() Both Statement I and Statement 1T are incorrect
(4) Statement I is incorrect but Statement II 1s correct
I | 1 21 %A fgu T £
] . TR A R WA § S AT A9 919 SHF T-Te B 8 | % b @ & R e

YO

B

D

e TE E

T 71

I—Tﬁmm%-ﬂtﬁmﬁ,ﬂ%ﬁnmfwﬁﬁﬁwﬁm Fem =1 = Ffau |

0p)

(1)

(2)

| @

(4)

F9 I 50 I 5E1 |8 &)
Fo I 370 1121 Te7d 21
FuH THA 2, A e I 21

T 1 Ted 2, oA ®eF [IAdE 2

[Question ID = 1008][Question Description = 108_00_General_19_0CT22_Q08]
1. 1 [Option ID = 4029]
2. 2 [Option ID = 4030]
3. 3 [Option ID = 4031]
4. 4 [Option ID = 4032]



4 s .
) Match List T with Last IT :

List T List 1
(A) Learning Management System (' Blender
(B) Web Conferencing System (I} Sakai
(C) Animation Maker System (IIT) SPSS
(D) Data Processing System (TV) Microsoft Teams

Choose the correct answer from the options given below:

M @A-dm G’ -dv © -@. @O - dh
@ A-a@. ®-O (© - d) @ — d
3 (A-@ B -0 (© - dm. O - avm
4 @A-1D ® -d. (€ - av. @O - @D

1 1% #19 H= I3 ferm il

T I A
(A) FE TEE T @O w=
(B) =9 GEETET T (F9 FEEE ) (1D 59E

2

AR R e (e T fen) (1) v i um o

S

TR WA T (STET WA e ) (IV) wHisshETRe 2

STUDY OF EDUCGATION

414 fau o faeredl | 521 390 &1 994 i

O @-@ ®-a ©-O O -«
@ A-aV). ® - @O (© - JD. (D) - 1)
3 (A-O. @B - JDn. (C) - dn. D) — av)
4 (A)—dn., B) - a1, (© - av. @ — @D
[Question ID = 1009][Question Description = 109_00_General_19_0CT22_Q09]
1 [Option ID = 4033]
2 [Option ID = 4034]

3 [Option ID = 4035]
4 [Option ID = 4036]

A w N =



5 . . . .
) Identify the approaches to aszezzment that require performance in context.

(A) Priming

(B) Portfolios

(C)  Think-Pair-Share
(D) Exhibitions

(E)  Token reinforcement

Choose the most appropriate answer from the options ziven below:
(2) (A) and (C) only
(3) (C) and (D) only
(4) (D) and (E) only

AT 1 34 W29 =1 e e foe smfa 2

(A)  wuuwEa (wefun)
(B)  Taum (TEEfeE)

G

oo s (e Resrede)

weEld] (ufsfaera)

8

Felt=TeL Tae (T fewen)

B

STUDY OF EDUCATION

<fret few o forsre 6 4 W e 3o o = i

(2) e (A) 31 (C)

(3) A (C) #1* (D)

(4) e (D) 3 (E)
[Question ID = 1010][Question Description = 110_00_General_19_0CT22_Q10]
1. 1 [Option ID = 4037]
2. 2 [Option ID = 4038]

3. 3 [Option ID = 4039]
4. 4 [Option ID = 4040]

6)
The type of research in which the researcher gains familiarity with a phenomenon or to

achieve new insights into it, 1s known as :

(1) Diagnostic research study (2)  Exploratory research study

(3) Descriptive research study (4) Hypothesis testing study



31 1 = W For v T ufrsrea =) sl g 9 2 speen 3 T SISt e S e

A &
1) TEmes my g @ i s
OS) AUiATEHE 91 SEaH (4) TR AT SR

_muestion ID = 1011][Question Description = 111_00_General_19_0CT22_Q11]
[Option ID = 4041]
[Option ID = 4042]
3 [Option ID = 4043]

Cj [Option ID = 4044]

3 The procedure of assigning numbers to various degrees of opinion, attitude and other

D concepts, 1s called as

LL]

(1) Regression (Q}

O (3 Variance (4) Concordance

>_F5'F:m. sy aen s sraamn s & fatas afmamn 6 g fa e afdn Faand 2

%1] qreRTEA (firEF) (2 A ()
|_|3] ) (o ) (4)  HETE (FFEA)

C@Jestion ID = 1012][Question Description = 112_00_General_19_0CT22_Q12]
1. 1 [Option ID = 4045]
2. 2 [Option ID = 4046]
3. 3 [Option ID = 4047]
4. 4 [Option ID = 4048]

8 ) : .
) Identify the correct sequence for the technigue of developing measurement tools :

(A) Specification of concept dimensions
(B) Selection of indicators
(C) Coneept development

(D)  Formation of index

Choose the correct answer from the options given below:

(1) (A (B). (C). (D)
(2 (O (A. (B). (D)
(3) (B, (C), (A), (D)
4 D). (A).(C).(B)



qTH = (BerH 7 ) o faira = ) afafad  od s ) vearfag)

(A)

Zo
O

A &1 =44
eI EC e

g 1 (FHTE S )

@&ﬁm&ﬁmﬁﬁhaﬁmmwﬁ&n:

@
o
(s
LIJ‘i)

(A), (B). (C). (D)
(C), (A), (B). D)
(B). (C). (A). (D)

(D). (). (C). (B)

I lQuestion ID = 1013][Question Description = 113_00_General_19_0CT22_Q13]
== [Option ID = 4049]
[Option ID = 4050]
[Option ID = 4051]
4. 4 [Option ID = 4052]

d With reference to Likert-tvpe seale, the correct set of options include :

:) (A)
— ®
CD (C)
(D)
(E)

Likert-type scale can be performed without a panel of judges

Likert-type scales are not considered reliable

Likert type scale takes more time to construct

Each statment in Likert-type scale is given an empirical test for discriminating ability

Likert-type scale can be used in recpondent-centred studies

Choose the correct answer from the options given below:

1)
)
(3)
(4)

(A). (B). (C) only
(B). (C). (D) only
(A). (D). (E) only
(C). (D). (E) only



Teard Wekm. o uH (%) T & ol mgeaa 8 nfae 2

(&)
(B)

(C)

Z€D)
O
e

Terard ST o |19 26 %7 fAurTae o woaei—age & e e s aaan d )
TeraRd 9T o |1 A farsradi 4 ure) s

Torerd et % W19 = TR & H S W e 2

Torehd wR % W ouers e R i A s ape i o fan ur seufes afise
(zofifrae 222) T2 s 2

Terend wehw o uaa o 3w el g sierg (ons= Hes el ) O B Heen 2

Ofﬁé ferw, e e 91 0 e o = <fifa

Dtl}
Do
LLls

LL®

FH (A). (B). (O)

#4d (B). (C), (D)

F4e (A), (D). (E)

#44 (C), (D). (E)

@Jestion ID = 1014][Question Description = 114_00_General_19_0CT22_Q14]
1 [Option ID = 4053]

2. 2 [Option ID = 4054]

[Option ID = 4055]

4. 4 [Option ID = 4056]

)

STUD

(&)

(B)

(©

D)

List T

Match List I with List IT :

Hy @ p= g, =100

H,:p=pg

Hy > pg,

Hﬂ T H {.‘uﬂg:

List IT

(I)  Alternate hypothesis is that the population mean is
not equal to 100

(IT)y Alternative hypothesis is that the pepulation mean is
greater than 100

(III) Null hypothesis is that the population mean is equal to
the hypothesized mean 100

(IV) Alternative hypothesis is that the population mean is
leas than 100

Choose the correct answer from the options given below:

(1)
(2)
(3)
(4)

(A) — (ID.
(A) - (IV),
(&) — (D,

B) — @V).
(B) — (IID.
(B) — (IID).
®B) — @,

(€) — @D. @) - @
© - @ @ -
(©) - @V). @ - an



a1 Lo A A= I e Fifam

i I I
(A) Hy:p=pg, =100 (T)  Feferss qimres 72 2 & @ s 100 % w21 2

(B) Hy:u=pm (A1) Afets gieod) 48 2 6 mmn o 100 B a2 2|
ZtC) H,:p>pg (IID) Frreafia wirern 22 2 B s (amiees) s gier=ras
O e 100 % GIER 8
(D) H,:u<ug (IV) Fafore afeper o2 2 B qm gea 1005 #4971

|_

<G o e 8 ) 3 o0 = oo

OU) Ay -d. B — av). (C) —dn, D) — @
(A)-@V), (B) — @D, (€) —@. (D) — D

D(S) (A)—@. (B — @D, (C) — @V). (D) — (D)

|1 @-an. ® -0 (© - ©O-a

Question ID = 1015][Question Description = 115_00_General_19_0CT22_Q15]
[Option ID = 4057]

2 [Option ID = 4058]
[Option ID = 4059]
. 4 [Option ID = 4060]

%)
|

Organisational communication is in nature.
(1) Obtrusive (2) Contradictory
D (3) Non-behavicural (49  Applied
(ﬁm WA —— uafd 1 E el
A (sAfaeazd) @ i (i)
(3)  HEATERRTEF (A4~ faefawa) (4)  THEINTEF (HATEAEE)

[Question ID = 1016][Question Description = 116_00_General_19_0CT22_Q16]
1. 1 [Option ID = 4061]
2. 2 [Option ID = 4062]
3. 3 [Option ID = 4063]
‘ 4. 4 [Option ID = 4064]

12)  Development of communication skills among learners involves :

(A)  Vertical flow of information

(B) Restricted expression of views

(C) Logiecal argumentation

(D)  Sharing of doubts

(E) Understanding human psychology

Choose the correct answer from the options given below:
1) (A (B).(C)only
2 (B).(C). (D)only

(3) (C). (D). (E) only
(4) (A), (D). (E) only



forerfedan o sty sHrere & fEem O wfeE 2

(A)  HE sl R
(B) Tl ufdsfa sfusafr
(C) i A
Z(I)) SIS I HTE
(E)  uHd g41f=aM &1 Hyz

1= B AR A B e b RS e LA DR A

(1) ¥4 (A). (B). ()
(2)  FEA (B). (©). (D)
0[3} Fel (C). (D). (E)
(4) = (A), D), (E)

Q.lestion ID = 1017][Question Description = 117_00_General_19_0CT22_Q17]
. [t [Option ID = 4065]
[Option ID = 4066]
3. 3 [Option ID = 4067]

| l 4 [Option ID = 4068]

Given below are two statements:

Statement I:  The physical context of commumnication must be tangible.

Statement IT: The temporal context of message deals with the sequence of events.

STUDY ©

In the light of the above statements, choose the correct answer from the options given
below:

(&)

(2) Both Statement I and Statement IT are false.

(3) Statement I iz true but Statement II is false

(4} Statement I 1s false but Statement IT is true
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FAA T Ha91 & FHilereh Has] 0 a2Asd & Sy 1 Iechd 791 2

FUATR FE o e 4, I fau o e d A ga 3w e =g S
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estion ID = 1018][Question Description = 118_00_General_19_0CT22_Q18]
1. 1 [Option ID = 4069]
. 2 [Option ID = 4070]
[Option ID = 4071]

01 [Option ID = 4072]
4)

Types of communication distance on a continuum of ethnocentrism in sequence are :

EDUCAJION

E

Y-

(A) Indifference
B Avoidanee

(C)  Disparagement

STUD

(D)  Eguality
(E)  Sensitivity

Choose the correct answer from the options given belaw:
(1) (B). (C). (E), (D). (A)
(3) (C). (D). (E). (A). (B)
(4) (A). (B), (C), (E). (D)



Ay B raridEizaa ) dada = due gf & g

(A) T (FHfzREE)

-

(B) giEw (EEEH)
ZC] HauH] (Teaiam=)

O s (s

rh3awwmmm@
<‘F&fa1[m{ﬁaa?d‘rﬁﬁmﬂmmmﬁhm

1) (B). (C). (E). (D), (A)
D). ©). @), B). (©
3)  (C), (D). (E). (A), (B)
4) (A). (B), (C). (E). (D)
estion ID = 1019][Question Description = 119_00_General_19_0CT22_Q19]
[Option ID = 4073]
[Option ID = 4074]

3. 3 [Option ID = 4075]
[Option ID = 4076]

@) Match List T with List IT :

I_ List T (Types of Skills) List II (Characteristics)
CD {A) Public speaking (I} To gain information

(B) Leadership (I) Confidence

(C) Selfpresentation (ITIT) Problem-solving

(D) Interviewing (IV) Represents a credible person

Choose the correct answer from the options given below:

W @-@O ® -d. (© - d) @O - a)
2  (@-an. B -av ©-@O @O -
@ @-a). ®-®O (©-d @O - dJD
9 @&-a@, @ - ©-a. O-0



g 13 e 9= 1= fuers $ifsm

el T (1976 % W) el 1T (feremam)
(A)  HEHHF T (D) S YTH A
Z(B) Aefe (I seafavaT
O(C) w770 e f (II0) s HuTH
(D) EMrEm (3IEE) (IV) v foqwam-ira safa = s e )

|_

%ﬁﬂwﬁmﬁﬁmﬁmmwﬁﬁq:

O

jl) (A)—(@. (B — I). (C) — dI). (D) — IV)
Ciﬂ) (A)— (o), B) — AV). © — @). (@O — (II)
LL3> (A -1V B - @. (© — . (D) — (I

@ @-da @ -dn ©-av. O - O

estion ID = 1020][Question Description = 120_00_General_19_0CT22_Q20]
[Option ID = 4077]
[Option ID = 4078]

3. 3 [Option ID = 4079]

[Option ID = 4080]
(3

What comes next in the following sequence?

0.25, 2.25, 6.25, 12.25, 7

CD (1) 1825 (2) 1925
(3) 1625 (4) 2025
A o s O Sref] g e e
0.25, 2.25, 6.95. 12.25, 2
(Iy 1825 (2) 1895
(3) 16.25 4 2025

[Question ID = 1021][Question Description = 121_00_General_19_0CT22_Q21]
1. 1 [Option ID = 4081]
2. 2 [Option ID = 4082]
3. 3 [Option ID = 4083]
| 4. 4 [Option ID = 4084]

17)

Eavita's age 1s eight yvears more than thrice the sum of the ages of her two grandsons who

are twins. Nine years later. Kavita's age will be one year more than two times the sum of the
ages of her two grandsons. What was the age of Kavita when her grandsons were born?

m
(3)

65 years

(2)  GByears
4 28 vears



Fferan ) 79 e 21 291 T ) 78 F T A1F g4 A w008 79 @i d) A oad e, Ffan ) oo g i
ol 30 % A0 F FE A 0 A 3k 71w H w3y o S 3 EA Wl #1992t

S ssEda ® 683
(3 657 (4  28T4

uestion ID = 1022][Question Description = 122_00_General_19_0CT22_Q22]
1 [Option ID = 4085]
[Option ID = 4086]
#’3 [Option ID = 4087]
"=774 [Option ID = 4088]

|_

<) The population of a bacteria culture doubles every 2 minutes. How many minutes will it take
O for the population to grow from 1 to 10247

(1 10 @ 14
:) (3) 18 @ 20
et e ot afen 2t 2 faere | grelt 21 sl 21 AtfEefon e i Hen 41 19 1024 71 94 | P ez
1 EE

LLG-I} 10 (2) 14
O%} 18 @ 20

[Question ID = 1023][Question Description = 123_00_General_19_0CT22_Q23]
[Option ID = 4089]

2 [Option ID = 4090]

-. [Option ID = 4091]
=4 [Option ID = 4092]

I—19) Given below are two statements:
CD StatementI: A fraction can be reduced to its lowest form by dividing the numerator and
denominator with a common factor.

Statement II: Two fractions can be compared by comparing their numerators if their
denominators are equal.

In the lLght of the above statements, choose the correct answer from the options given
below:

(2) Both Statement T and Statement IT are false.
(3) Statement I is true but Statement IT 1= false

(4) Statement I is false but Statement IT is true



4 @1 %A fau e #) v stfasaa (Assertion A) % 0 1 ferfigd 2 71 2591 395 F1 (Reason R) &1 4

FoA1: Tl = =, #9 8 =EE B o a2 Al s a9 2 B sEvEds | ae g
T =)

ZEE%H]I: #f &1 9=t % & s 21, o1 3 sfuil = qer = g = g1 e o gern i an aEd 21

O'ﬂfﬁ%ﬁﬁgﬁ 31T 8, A4 T30 o el § 8 98 39 % =99 il

|_m o 1 i IL4 wea
<(2) e T3 I3 3550 &

(3)  ®eA LA 2, effeA & IT 370 2
:)(4) e T 3Tgey 3, e s TIHE 2

G.lestion ID = 1024][Question Description = 124_00_General_19_0CT22_Q24]
. [ [Option ID = 4093]
[Option ID = 4094]
3. 3 [Option ID = 4095]

I l 4 [Option ID = 4096]

@ Price of a mobile is first increased by 20% and later decreased by 25%. What is the net
: percentage change in final price of the mobile?

1)  10% @  18%
D (3) 20% 4 12%
Dmﬁmgaammr;ﬁé 20% AT e 3% fEr 25% e e 21 diange % sifen 2w A ge afaa
27
CQ) 10% (2 18%
3) 20% (4) 12%

[Question ID = 1025][Question Description = 125_00_General_19_0CT22_Q25]
1. 1 [Option ID = 4097]
2. 2 [Option ID = 4098]
3. 3 [Option ID = 4099]
4. 4 [Option ID = 4100]

21)  Given below are two statements:

Assertion A:  There are certain psychological conditions under which inference takes
‘place.

Reason R : Absence of pogitive knowledge and will fo infer itz presence or absence are
pre-requisites for inference to be drawn.

In the light of the above statements, chooze the correct answer from the options given
below:

(1)  Both A and R are true and R is the correct explanation of A

(2) Both A and R are true but R 1s NOT the correct explanation of A
(3) Ais true but R 1s false

(4) A 1= false but R 1s true



1 71 %9 fau i 81 v AfaEya (Assertion A) F ¥ H fafiEa 2 41 230 295 %17 (Reason R) & &9 H
wfuFa A - iara g Efa w6 2 s st e e 9@ 2

FIMR:  HEREHE FH ) w9 sl sl affa sual seafafy e e feea i ogs ae
FAE &1 zeafa & fere sfam 21
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Oy ashraimntshr afat et
"R A 317 REH 981 2 5 R, A9 58 s 44 21
AHA 2dfF R 98 37 2

AFfiTF 2R REE F

uestion ID = 1026][Question Description = 126_00_General_19_0CT22_Q26]
[Option ID = 4101]
2 [Option ID = 4102]
'. [Option ID = 4103]
=4 [Option ID = 4104]

Iﬁ
&

& 2

ED

N
N
~

Match List T with List IT :
ListT List IT

(A) Fallacy that occurs due to appeal tonon- (I) Argumentum ad Hominem
rational methods of intimidation

(B) Fa.l_lacy that occurs when an argument (II) Accident Fallacy
makes an appeal to the character of the
person

(C) Fallacy that occurs when an areument is (I} Argumentum ad Populum
in the form of emotional "appeal to the
gallery”

(D) Fallacy that occurs when a general rule 1s  (IV) Argumentum ad Baculum (force)

apphed to a ease 1n which the rule 1s
inapphecable

STUDY OF

Cheose the correct answer from the options given below:

M @W-O ®-a. (© -d) @O - av
@ Q- B -a. ©-@ @O -
3 @-m ®-a © -0 @O - @O
@ =y = @@= @by (D)= @
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Z (B) = % =i I Gi=e % 5 o9 @ ah % () e o (T )

9 B A O 5
O (C) T A F Hien F4 i qErEw wiE 9 (I A aF T (SE=2e T3 7))
I (D) WWWWWWQ?%EW?I (IV) 9= A (3rdr=2y U= S99eH)
< SEl 97 TR T w6 78 EHE T A

Oﬂﬁéfﬂt{ﬂt{fﬁ?ﬁéﬂiﬁ?ﬁ?ﬂw#ﬁm:

- M @-O @ -3 (© - D @ - av
D (2) A-Dn, B -a, © -@ @O - av
Ll @w-om ®-awm ©-o O -a)

CSuestion ID = 1027][Question Description = 127_00_General_19_0CT22_Q27]

[Option ID = 4105]

¥"2 [Option ID = 4106]
3. 3 [Option ID = 4107]
[Option ID = 4108]

(23

D Which of the following is not a fallacy of Ambiguity?

(1) Egquivocation (2)  Amphiboly
I (3)  Accent (4)  Accident

7p)

Fraferfiam 3 @ o fazdsrmm a0 aaa (Berd s ufmamfz) 34 27

(1)  wfae (sfEEERER) @ o
(3) F=m-aH (4 HEw (ueER)

[Question ID = 1028][Question Description = 128_00_General_19_0CT22_Q28]
1. 1 [Option ID = 4109]
2. 2 [Option ID = 4110]
3. 3 [Option ID = 4111]
| 4. 4 [Option ID = 4112]
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~

Given below are two statements: One 1s labeled as Assertion A and the other is labeled as
Reaszon R.

Assertion A: A propername has only denotation but no connotation.

Reason R : Intension refers to set of adjectives: Extension refers to set of substantives.

In the light of the above statements, choose the correct answer from the options given
helow:

(1)  Both A and R are true and R is the correct explana

(2) Both A and R are true but R is NOT the correct explanatmn of A
(3) A is true but R is false

(4)  Ais false but R is true

CATION

:)F;lémm fau o 21 o w99 (Assertion A) % &1 1§ fofiad 2 1 2671 3895 #10 (Reason R) F &1 1 :

FoH A sAfEATEE AT & FAa arear (Tediee) 21 8, oifd g3 ond (a1 ) 46 21d 7

E%D

FOIR: 7w (e (322F) W G5 AR B UE E2 A 7 9Ead (UFEITH) R And SeadreT
(wemzieza) =m0 3

O‘Jﬁ?ﬁ”ﬁ}?ﬂiﬁ Areiter #, 7 fan o forepedi @ & ad wm %1 = difem)

F

=) A AR i R, A e
Qz’) A 31 R 591 F 5 R, A wd =men a6 2
33) Agd 2afH R 34 £

(4) AHH FF 2w RAA )

13]

[Optlon 114]

3. 3 [Option ID = 4115]
4. 4 [Option ID = 4116]

m.‘estwn ID = 1029][Question Description = 129_00_General_19_0CT22_Q29]
2

25)
If "All college professors are entertaining lecturers’ is True in a square of opposition which of

the following can be inferred correctly from the given codes.

{A)  “No college professors are entertaining lecturers’ is false
(B)  ‘Some college professors are not entertaining lecturers’ is true
(C) ‘Some college professors are entertaining lecturers’ is true

(D) ‘Some colleze professors are entertaining lecturers’ is false

Choose the correct answer from the options given below:

(1) (A) and (B) only
(2) (B) and (C) only
{3) (C) and (D) only

@ (A)and (C)only




#fe "l e TR SHEE A 2§ E Al s § § He - e T T % A e e
(A) IS TS TR YRS SIREATA AE - SEE 2
(B)  'F@ el WEHT G ST A9 2 | - Hed 2 |

(C) ' el W U AT B - Hel 2

O

(D) ' Fierd A AR AR & - 56 2

T

A few am fepredi A 9§ w2l 30 a0 o Hif

Ou) A (A) = (B)

8(2} Fad (B) ¥ (C)
Lutaa FAd (C) 31 (D)
| -

uestion ID = 1030][Question Description = 130_00_General_19_0CT22_Q30]
[Option ID = 4117]
#2 [Option ID = 4118]
3. 3 [Option ID = 4119]
m=y [Option ID = 4120]

Aman adds a video file to his social networking page. Which one of these describes a video
that has been watched by a lot of people over a short period of time?

(1)  Digital (?) Tagged
4y Open source

TUDY

S
:

T S HEIAE A O § U SisA TS A= B 91 T Seard § o S ge 2 T 36

Hifsar =i et 1§ 5 fres g aiia e s A 27
(1) s 2 =
@) A (4 A

[Question ID = 1031][Question Description = 131_00_General_19_0CT22_Q31]
1. 1 [Option ID = 4121]
2. 2 [Option ID = 4122]
3. 3 [Option ID = 4123]
4. 4 [Option ID = 4124]
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Identify the correct order of the following major technalogical changes in computers based on
fourth to first generation of computers.

(A) Microprocessors
(B) Vaccum Tubes

(8] Integrated Circuits
(D) Transistors

Choose the correct answer from the options given below:

(1) (O (A). D). B
(2)  (A), (C), (B). D)
(3 (A (C). (D). (B)
(4) (D). (B). (A (O

CATION

jm;gﬂ % HN9 A TE YA F A e § g ) aftad o ad o o v fifsn
0 o
LLIB} FRE
C) s=Rzuabi

Lo i
OF} fau o feared o 9 9@ 3 = i
>.(.1) (©). (A). (D). (B
qg; (A). (C), (B). (D)
! ) &0, D). (B)

)4} (D). B). (A). (C)

I-['Ql.lestion ID = 1032][Question Description = 132_00_General_19_0CT22_Q32]

1 [Option ID = 4125]
.J2 [Option ID = 4126]
3. 3 [Option ID = 4127]

4. 4 [Option ID = 4128]

28) Given below are two statements about Electronic Mail (e-mail) :

Statement I:  You can create folders fo store and organise yvour emails.

Statement IT: You can add attachments of any file size to an email.

In the light of the above statements. choose the correct answer from the options given

below:

1) Both Statement I and Statement IT are true.
(2) Both Statement I and Statement IT are falze.
3 Statement I 1s true but Statement 1T 15 false

(4 Statement I 1s false but Statement I 1s true



A1 21 e fon e &) gerafens e (S0e) 5 oo fod w2
#9411 W9 30 dufEa () qu1 @fan (aniea) w9 % o west i e e #)

FAA ;3 Free oft ol wiget o s o £ e § oS Hehd 2

Z

Ommm%mﬁ,:ﬂ%ﬁqwﬁmﬁiﬁﬁnﬁlmmw Fifa

I_('l) F2A T 30 I 3H1 67 2

0(2) Fo 1 377 11 3H] 957 2
:)(3) Fo [HA 7, dlfeA F97 11 56 2
D(-i) & T e 2, oife fue T as 2

Lu.lestion ID = 1033][Question Description = 133_00_General_19_0CT22_Q33]
1. 1 [Option ID = 4129]

. 2 [Option ID = 4130]
[Option ID = 4131]

@4 [Option ID = 4132]

Which of the following file format contains exclusively the sound file format appropriate for
web distribution?

STUDY:

(&) WMV
(B) WAV
(C) AVI
D) MOV
(E) MP3

Choose the correct answer from the options given below:

(1) (B) and (C) only
(2)  (B)and (E) only
(3) (A) and (D) only
(4)  (A)and (E) only



fr=faiea 8 4 wrge sz 4 99 fafiegyE & fo avgea veie &9 4 a2122 F15e w2l 8 0

(4)

(B)

Z ((?}
O(D)

Zaey vy A (WMV)
sy U dl (WAV)

u i 31 (AVD)
g 3 (MOV)
g i 3 (MP3)

<#ﬁ feew o fipredi o & T R i

O( 1
3(2)
O
LIJ(':U

Fad (B) 37 (C)
Fel (B) 311 (E)
FH (A) 31 (D)

FA (A) 31 (E)

I IQuestion ID = 1034][Question Description = 134_00_General_19_0CT22_Q34]

ption
ption

ID.= 4133]
ID = 4134]

eF
¥ 3 [Option ID = 4135]

: 4. 4 [Option ID = 4136]

Qi) Match List I with List T :

D
—
0p)

List T (Technical Term)

(A)

(B)

(C)

D)

Phishing

Pharming

Spam

Smishing

@

(1)

List IT (Deseription)

The action of illegally installing malicious code which
redirects a person to a fradulent wehsite with the
purpoze of obtaining that person's bank details

The action of sending text messages to fraudulently
obtain another person's bank details

(III) The action of sending emails to fraudulently obtain

another person's bank details

(IV) Unsolicited bulk emails

Choose the correct answer from the options given below:

(1)
(2)
(3)
4)

(A)— (D,

(A)—(IV),
(A)— (IID).
(A) — (IID).

(B) — (II).
®B) — @,
(B) — (D.
(B) — (D,

(C) — (IV). (D) — (1I)
(C) — ). D) — dD
(€) — @V). (D) - (ID
(© — . (D - @V



gl 13 |19 |+ 11 %1 e i
=1 L (7T 7E) 7= 11 (=)
(A) T () =9 =9 7 fagal w1 F1 we FE f e s
= o S [EET R U R F 3Evd H 39 4N W T

Z;B:- T (IT) =F92A1 § 3= =47ad + oF [F900 G F04 5 (@0 202 5o
(C) =m (ID) 9271 O 57=1 =977 & % e T e F o f ue i
I EIREE
fefom (IV) SFT=a e 3

<’

(ja‘ fan 10 farred] & w8l 3 1 =EA Fifm

31} (A)-@. (B) — @D, (C) — @V). (D) — D)
|gz> (A -1V). (B - @O. (C) - I, (D) — (D
| _L’D (&), (B) — (@M. (C)—av). (D) —an

4 (A-a, B —@. () —aD. (D) — aV)

estion ID = 1035][Question Description = 135_00_General_19_0CT22_Q35]
[Option ID = 4137]
[Option ID = 4138]
3. 3 [Option ID = 4139]
4 [Option ID = 4140]

()
1 mm layer of pure czone gas around earth at normal temperature and pressure is

’ equivalent to:

|— (1) 1 Dobson Unit (DU) @ 10DU

cD (3) 100 DU (4) 0.1 DU
T AT T T 9 Y % 9RE: 95 S E 1 mm T * AT 2
(1) 1= g2 (DU) (2) 10DU
(3) 100DU (4 01DU

[Question ID = 1036][Question Description = 136_00_General_19_0CT22_Q36]
1. 1 [Option ID = 4141]
2. 2 [Option ID = 4142]
3. 3 [Option ID = 4143]
4. 4 [Option ID = 4144]



32

~

Matech List T with List IT :

Tist I
(A) Mist
(B) Smoke
(C) Fume
(D) Smog

List IT
() Aerosols consisting of solid particles
(IT) Aerosols produced by condensation of hot vapours of metals
(I} Photochemical products of VOCs and NOx
(IV) Aerosols consisting of liquid droplets

Choose the correct answer from the options given below:

(D @Aa—Ivy. @\ -@O. © -dan @ - db
(2) {A) — (I1I). ) = D). (€ — dV). @O — (@D
(3) (A =(ID. B — av). (€ —{ID. @O — @
(4) (A —(IV). (B) - I, (€ — @O (@O — {JID
Jn’llé‘ﬁmﬂqﬁﬂﬂhamaﬁhu
D Hﬁ& 1 q:—ﬂ I
LLlsy sw ey O e frei a8
LI (B) 3 (=) (D) v foer fwton sy o arg % e A wa )
(C) M (FM) (III) VOCS #41 NOx % YsEI-TFHaMH 37712
(D) - () (IV) wirTe T ave frmgsr 6 2
: et fam amu Faerei 4wl 307 0 = ifaw

Dl)
0,
e
Uy

A)-av), @ -@d. (€ -1, (D — (I
(A)—dDn, B —a. (© - av). O - @
(A)—dn. (B) — dv), (€) — {dm. M) — @O
A)-av), B -d). © - @O, (D) - dmI)

[Question ID = 1037][Question Description = 137_00_General_19_0CT22_Q37]
1. 1 [Option ID = 4145]
2. 2 [Option ID = 4146]
3. 3 [Option ID = 4147]
4. 4 [Option ID = 4148]
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Given below are two statements: One ic labeled as Acsertion A and the other is labeled as
Reaszon R.

Assertion A:  Bottom ash generated into the boilers of the thermal power plants are major

cause of nearby river pollution.

Reason R : The hotwater generated from thermal power plants are discharged into the

In

nearby rivers.

the light of the above statements, choose the correct answer from the options given

helow:

(1)
(2)
(3)
(4)

Both A and R are true and R 1s the correct explanation of A
Both A and R are true but R 13 NOT the correct explanation of A
A is true but R 1= false

A iz false but R is true

Z oA fau 3

Tl o Tae @99 (4 I ) F wigen § 369 9R: Ty (Wied e Teeead o w

BECE TR e R e ]

DWR: 9 farza @ 1, e T i A ate o i e 2

I TR FeE % ATEr |, 179 fan e e 0 3 g o = fifem)

0p)

(D
@
(3)

(4)

A 37 R 21 A-a # 3 R, A e sgren 2

A 3l REH |64 2 el R, Ao 2t s 6 @

Aga? dfFA R s 2

A Ee 2, AR R o 2

[Question ID = 1038][Question Description = 138_00_General_19_0CT22_Q38]
1._1 [Option ID = 4149]
2. 2 [Option ID = 4150]
3. 3 [Option ID = 4151]
4. 4 [Option ID = 4152]
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Given below are two statements:

Statement I :  Chronie toxicity caused due to hazardous wastes is not difficult to determine.

Statement IT: Chronic effects may be seen immediately after the exposure.

In the light of the above statements, choose the most appropriate answer from the options
given
below:

(1) Both Statement I and Statement IT are correct

(2) Both Statement I and Statement IT are incorrect

EDUCATION

{3) Statement I 1s correct but Statement IT is incorrect
(4 Statement I 1= incorrect but Statement 1T is correct
I l At 21 e fawm 2

Oiﬁ'ﬂl: FEATF L T FEU 509 (ORI [ 1 4T F wied T4 2

>—m'eﬂ]I.- FearTiersh wdTal 1 F5HA o dqTd J14 S S a2

TN Fe & e °, A fau e fassedl 3 3 aam 3 3e 1 =eE Fifeu)

o 1 3w T 2ET|d 31

o~
(i
e

(2) &R IR I 2HI e # 1

ESTUD

(3)  =em IHE 2, wfF Faa Iem 2
(4) & 1A 8, i e I B

[Question ID = 1039][Question Description = 139_00_General_19_0CT22_Q39]
1. 1 [Option ID = 4153]
| 2. 2 [Option ID = 4154]
3. 3 [Option ID = 4155]
4. 4 [Option ID = 4156]
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(4)

What 1= the correct sequence of preparing vermi-compost?

(A)
(B)
()
(D)
(E)

Introduction of culture of worms in to the pit.

Lining up with straw or dried grass and leaves

Water the pit once or twice a week

Construction of pit of half square meter area and one meter deep

Putting into pit the organic wastes as and when generated

Choose the correct answer from the options given below:

(D
(2)
(3)
(4)

(D). (E). (B). (A). (C)
(A). (C). (D). (E). (B)
(E). (A). (B). (O). (D)
(D). (B). (E). (A). (C)

s o) e (Al etz ) & Feio o ad g 227

T5e | FHA (A1) F FEEA 7 I wH] FE

AT S g g S g % e St 6

Ao U UF =W 91 5 G0 TS § I o

w9 AT I A A AE w0 (AaE ) 56 A 39 ee s

feo au Fopmedl | 4 |2l 3 51 = fif

(D). (E). (B). (A). (C)
(A), (C), (D), (E). (B)
(E). (A), (B). (C). (D)
(D). (B). (E). (A). (©)

[Question ID = 1040][Question Description = 140_00_General_19_0CT22_Q40]
1. 1 [Option ID = 4157]
2. 2 [Option ID = 4158]
3. 3 [Option ID = 4159]
| 4. 4 [Option ID = 4160]
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The reforms initiated under the Rashiriya Uchchattar Shiksha Abhivaan (RUSA) aim at:

(A) Push for greater accountability and autonomy of state institutions

(B) Improving the guality of education and infrastructure

(C)  Formulation of stringent regulations to curb commercialization of higher education
(D) Increase iIn GER upto 50 percent

(E) Efficient monitoring and eontinuous feedback mechanism

Choose the correct answer from the options given below:

(1)  (A). (B) and (C) only
(2) (A and (B)only

(3) (A). (B). (C) and (D) only
(4) (B). (C), (D) and (E) only

L b s foven saforms (v ) 3 et ot 7 v s o 3w 2

L
O

1T HEnadl o1 fien Tergrd aen == 97 46 241

Tv1en) e sraEEET ) UrET | qET )

T=g TorEn = TR T F i e w5 e
13 A F) AR 50 YA =

Fred [ aen Haa gfafe @2

I 41 fzu oo fasredi 4 4 o) 3 % =9 it

(1)
(2)
(3)
(4)

A (A), (B) 3 (C)
e (A) 31 (B)
FAd (A). (B). (C) 3 (D)

#ael (B). (C). (D) 3% (E)

[Question ID = 1041][Question Description = 141_00_General_19_0CT22_Q41]
1. 1 [Option ID = 4161]
‘ 2. 2 [Option ID = 4162]
3. 3 [Option ID = 4163]
4. 4 [Option ID = 4164]

37)

According to National Education Policy (2020), National Higher Education Regulatory
Council will be the single point regulator for all disciplines except

(1) Teacher Education

{2} Medical and Legal education
(3)  Agricultural sciences

4) Management



g e Hifg (2020) % sEw 7= FEn A g GeiEhee 2 9 e sew ad T
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Qlestion ID = 1042][Question Description = 142_00_General_19_0CT22_Q42]
mepe= [Option ID = 4165]
tion ID = 4166]

I 3. 3 [Option ID = 4167]
4 [Option ID = 4168]

Identify the correct sequence in decreasing order in terms of number of universities in the
State

(A) Gujarat -

(B)  Uttar Pradesh u’b"\e"\
(C)  Rajasthan

(i ‘Karnataka

(E) Madhyva Pradesh

Choose the correct answer from the options given below:

(1) (A B (C). D) (E)
2) (B (C). (D). (A). (E)
(3)  (C). (B). (D). (A). (E)
(4  (C). (B). (A), (D). (E)

UDY OF EDUE

1= ° favafaearaa f) den & g9 d 59 33908 %9 i veaE Fifs

Ne

T

(B) TYEE
(C)  ITEEH
D) FAleF

(E)  Heg 99

A Tev o fasedi O & w9 3 %1 99 difau

(1) (A) (B). (C). (D). (E)
(2) (B, (C), (D), (A), (E)
(3) (0, (B). D). (A), (E)
(4)  (C). (B). (A)., (D). (E)

[Question ID = 1043][Question Description = 143_00_General_19_0CT22_Q43]
1 [Option ID = 4169]
2 [Option ID = 4170]
3 [Option ID = 4171]
4 [Option ID = 4172]

A wWwN =
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Match List T with List 11 :
List T List II
(A) National Education Policy Iy 1993
(B) National Policy on Education (II) 2009
{€) National Knowledee Commission (III) 1936

(D) Learning without burden Report of (IV) 2020
the National Advisory Committee

Choose the correct answer from the options given below:

(1)  A-aV). B —a. (© — dn. @O — @
2 @-aV). B -dn ©) -O O -
@ @-a@) ®-d) ©-ad. @O-O
@ (AH-a@). B -@O (© - d. (@ - {dn

EDUCATION

|1 =h 1w i T e forerm ifr
O i il
>_(:A) o e i (496 vEsyE qier) @ 1993

D(B:- foren Hasf ofim Hifa (uea R s eadrE) @) 2009

3.!3) T T HEm (IIT) 1986
I_[D) T gerreesm afifa < an fada sl ol IV) 2020

% T o1 1 %l 392 3 =19 <fifero

(1) (A)—av). (B) —(ID. (€) — {IIh. M) — @D

2 @-a). ® -dn © -O. @O - an
LB @A-aV), (B - @D, (¢ —dn, (D) — (@

(4) (A)-avy. B —@O. (€ —an. @) — D

[Question ID = 1044][Question Description = 144_00_General_19_0CT22_Q44]
1 [Option ID = 4173]
2 [Option ID = 4174]

3 [Option ID = 4175]
4 [Option ID = 4176]

AW N =
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Given below are two statements: One i labeled as Assertion A and the other 1= labeled as

Reason R.
Assertion A:  Umniversities play a kev role in building a symbiotic relationship between the
nation. state and society

Reason R : Universities are centres for creation and transmission of knowledge

In the light of the above statements, choose the correct answer from the options given
below:

(1) Both A and R are correct and R is the correct explanation of A
A and R are correct but R is NOT the correct explanation of A

e

3 A i3 correct but R iz not correct

S

(4) A 1s not correct but R is correct

EDWCATION

L|_ 414 21 e fau o B ) vk AiaA (Assertion A) % ®1 1 fafiad 2 91 201 39F FF0 (Reason R) F &7 1

ANFAT A EvETagEEE W, TS GG GAT S SesiE g6 % S H TgE g {ee w

FETR:  EvEEEed T F 99 A9 T R A

DY O

)mmm%aﬂﬁﬁﬁ,ﬂﬁéﬁqmﬁﬁﬁﬁmﬁmwwﬁml

T

D@  asiradedsshr Afmsmend
| 2 Asi R 9 2 ot R, A 6wl emen a6 2
(3)  Aud el Rad 78 &1

(4 AHAFE AR REA 2

[Question ID = 1045][Question Description = 145_00_General_19_0CT22_Q45]
1. 1 [Option ID = 4177]
| 2. 2 [Option ID = 4178]
3. 3 [Option ID = 4179]
4. 4 [Option ID = 4180]

Topic:- 11_GP_SH1_Set1_C
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Read the passage carefully and answer the questions that follow (Q, 46-30) :

Public action. in a broad sense. can play a central role in economic development and in
bringing social opportunities within the reach of people as a whole. Sometimes public action
is characterised in the economie literature as action by the government. not as action by the
public 1tself, This interpretation can be seriously misleading as it draws attention away from
the influence that the public can have in determining the direction of governmental action.
Actions of the public can be of profound sigmificance to the successes and fallures of economic
and social change In general, and to development efforts in particular. The role of pubhc
activisim in influencing government policy can be particularly important in promoting the
positive functions of the government. These positive functions include the provisions of
public services such as health care. child immunisation. primary education. social security.
environmental protection and rural infrastructure. The vigilance and involvement of the
public ¢an be quite erucial not only in ensuring an adequate expansion of these essential
services but also Im momtoring their funetioning. Indeed the actual reach and effective
quality of the services that are meant to be. in principle available often depends a great deal
on the information that the local community gathers and the extent to which it ean get its
voice heard. The shirking and ahsenteeism of village teachers for example are much more
easily observed by the villagers themselves than by the government inspectors and the
search for redress can be more effectively achieved with local activism. Besides. schools.
hospitals and other facilities can be made more sensitive to the public needs if there 1s a local
pressure in that direction. better than the directions from the above.

O:lm | AT 92 A9 36 12 4010 9 (46-50) &1 3790 7|

D

¥

AU w4 0 A A ATAF S A GRS B9 8 oA A% AEAE S TR § Ao

aftepr frn w2 Ff-=fi sdem @ wefEm wiEe § AR e e -ani TR T T
Eﬂ?ﬁmmmﬁm%ﬁwwﬁmmﬁlwmwﬁwmnmmnﬁ?nﬁ%

T A TEn i e A oo F Rei § 9 F owdE § g o A6 2| o Anas w69
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W?]WTWﬁﬂmﬁﬂwﬁﬁﬂmmﬂmmmm
Bt b e e B Bz 1 e e e 1 T L o et e B | [ Bt D T B [ o e e

T TTET, TATEROT R Tt AT W SFEETEA OE Al 2| ST il Oaar 991 T A B A
Fae T AEVEFE AGI] F G W T GEE #  aien 39 0 i FEET § O T gEee w1
TEA 7| T A ST o avEtTs TS e ThE e g #9 § wh e 9 e e
T WA I TE AR A1 TEH S g4 9E, 79 599 § 3ahl fEa) il | W 6 w2 sy
E T foe & FE g A W a9 = § Sean A R e ) e i e |
T T G AT | R A AT TR A A S AT S T A A g A

TG 7| TEHE AW, A, A o8 S99 g O AEEeE AEraEaEl % U AeE

TEEAYE S S O 2 916 59 1590 § S | 81, "0k T4EE S0 T 5ad 7|

What can bring the social opportunities within the reach of the people?

(1) The government directlves (2) Economie literature
(3)  Actions of the public (4)  Sucecess of social change

S 7 | S w1 TR HE £

(1) Tvan R (2y  wedres g arfee
(3) AFHHFH (4)  wATEEF girads i aEed

[Question ID = 1046][Question Description = 146_00_General_19_0CT22_Q46]
1. 1 [Option ID = 4181]
2. 2 [Option ID = 4182]



\ 3. 3 [Option ID = 4183]
4. 4 [Option ID = 4184]
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Read the passage carefully and answer the questions that follow (Q. 46-50) :

Public action. in a broad sense. can play a central role in economic development and in
bringing social opportunities within the reach of people as a whole. Sometimes public action
is characterised in the economic literature as action by the government. not as action by the
public itself. This interpretation can be seriously misleading as it draws attention away from
the influence that the public can have in determining the direction of governmental action.
Actions of the public can be of profound significance to the successes and failures of economic
and social change in general, and to development efforts in particular. The role of publc
activisim in influencing government policy can be particularly important in promoting the
positive functions of the government. These positive functions include the provisions of
public services such as health care, child immunisation. primary educatien. social security,
environmental protection and rural infrastructure. The vigilance and involvement of the
public ¢an be quite crucial not only in ensuring an adequate expansion of these essential
services but also In monitoring their functioming. Indeed the actual reach and effective
quality of the services that are meant to be, In principle available often depends a great deal
on the information that the local community zathers and the extent to which it ecan get its
voice heard. The shirking and absenteeism of village teachers for example are much more
easily observed by the villagers themselves than by the government inspectors and the
search for redress can be more effectively achieved with local activism. Besides. schools.
hospitals and other facilities can be made more sensitive to the public needs if there is a loeal
pressure in that direction. hetter than the directions from the above.
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Positive functions of the government can be supported by :

(1)  Public influence on policy-decisions

(2) Focussing on education and social security
(3) Centralised power structure

(4) Top-down. one way general instructions
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smsbemsd [Option ID = 4185]
2.2 [Option 1D = 4186]
3. 3 [Option ID = 4187]
4 [Option ID = 4188]

Read the passage carefully and answer the questions that follow (Q. 46-50) :

Public action. in a broad sense. can play a central role in economic development and in
bringing social opportunities within the reach of people as a whole. Sometimes public action
1s characterised in the economic hiterature as action by the government. not as action by the
public itself, This interpretation can be seriously misleading as it draws attention away from
the influence that the public can have in determining the direction of sovernmental action.
Actions of the public can be of profound significance to the successes and failures of economic
and social change in general, and to development efforts in particular. The role of pubhc
activisim in influencing government policy can be particularly important in promoting the
positive functions of the government. These positive functions include the provisions of
public services such as health care. child immunisation. primary education. social security.
environmental protection and rural infrastructure. The vigilance and involvement of the
public ¢an be quite crucial not only in ensuring an adequate expansion of these essential
services but also In monitoring their functioning. Indeed the actual reach and effective
quality of the services that are meant to be, In principle available often depends a great deal
on the information that the local community zathers and the extent to which it can get its
voice heard. The shirking and ahzenteeism of village teachers for example are much more
easily observed by the villagers themselves than by the government inspectors and the
search for redress can be more effectively achieved with local activism. Besides. schools.
hospitals and other facilities can be made more sensitive to the public needs if there is a local
pressure in that direction. better than the directions from the above.
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LI-Adequate monitoring of public services is possible through :

) Expansion of essential services (2) Improvement in quality of services
: (3) Increasing social inclusivity (4) Effective public activism
)1) AETEF T F (AW H (2) Tl 1 e gEE A
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estion ID = 1048][Question Description = 148_00_General_19_0CT22_Q48]
1. 1 [Option ID = 4189]
2. 2 [Option ID = 4190]
3. 3 [Option ID = 4191]
| 4. 4 [Option ID = 4192]
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Read the passage carefully and answer the questions that follow (Q, 46-30) :

Public action. in a broad sense. can play a central role in economic development and in
bringing social opportunities within the reach of people as a whole. Sometimes public action
is characterised in the economie literature as action by the government. not as action by the
public 1tself, This interpretation can be seriously misleading as it draws attention away from
the influence that the public can have in determining the direction of governmental action.
Actions of the public can be of profound sigmificance to the successes and fallures of economic
and social change In general, and to development efforts in particular. The role of pubhc
activisim in influencing government policy can be particularly important in promoting the
positive functions of the government. These positive functions include the provisions of
public services such as health care. child immunisation. primary education. social security.
environmental protection and rural infrastructure. The vigilance and involvement of the
public ¢an be quite erucial not only in ensuring an adequate expansion of these essential
services but also Im momtoring their funetioning. Indeed the actual reach and effective
quality of the services that are meant to be. in principle available often depends a great deal
on the information that the local community gathers and the extent to which it ean get its
voice heard. The shirking and ahsenteeism of village teachers for example are much more
easily observed by the villagers themselves than by the government inspectors and the
search for redress can be more effectively achieved with local activism. Besides. schools.
hospitals and other facilities can be made more sensitive to the public needs if there 1s a local
pressure in that direction. better than the directions from the above.
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The effective gquality of servicés depends upon malang :

(1) Stricter rules for implementation
(2) Local community involved

(3) Redressal of grievances

(4) Strong government vigilance



Hea =i o1 wqe i e g w2

(1)
(2)

23]

4)

FA= 2 Hed

T HyEr 1 afas fn s
frarraret o framm
Hefel LI Hefhell

m=pQuestion ID = 1049][Question Description = 149_00_General_19_0CT22_Q49]

l 1. 1 [Option ID = 4193]
2. 2 [Option ID = 4194]
3 [Option ID = 4195]

“=4 [Option ID = 4196]

STUDY OF ED

Read the passage carefully and answer the questions that follow (Q. 46-50) :

Public action. in a broad sense. can play a central role in economic development and in
bringing social opportunities within the reach of people as a whole. Sometimes public action
1s characterised in the economic hiterature as action by the government. not as action by the
public itself, This interpretation can be seriously misleading as it draws attention away from
the influence that the public can have in determining the direction of sovernmental action.
Actions of the public can be of profound significance to the successes and failures of economic
and social change in general, and to development efforts in particular. The role of pubhc
activisim in influencing government policy can be particularly important in promoting the
positive functions of the government. These positive functions include the provisions of
public services such as health care. child immunisation. primary education. social security.
environmental protection and rural infrastructure. The vigilance and involvement of the
public ¢an be quite crucial not only in ensuring an adequate expansion of these essential
services but also In monitoring their functioning. Indeed the actual reach and effective
quality of the services that are meant to be, In principle available often depends a great deal
on the information that the local community zathers and the extent to which it can get its
voice heard. The shirking and ahzenteeism of village teachers for example are much more
easily observed by the villagers themselves than by the government inspectors and the
search for redress can be more effectively achieved with local activism. Besides. schools.
hospitals and other facilities can be made more sensitive to the public needs if there is a local
pressure in that direction. better than the directions from the above.
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LLWJ:at does the passage advocate to make services sensitive to public needs?

(1) Pressure by beneficiaries
>Q] Information gathering
d} Government monitoring
j} Checking absenteeism among public employees
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[Question ID = 1050][Question Description = 150_00_General_19_0CT22_Q50]
| 1. 1 [Option ID = 4197]
2. 2 [Option ID = 4198]

3. 3 [Option ID = 4199]
4. 4 [Option ID = 4200]




